

# <u>STC South Camberwell Cricket Club</u> <u>Annual Report</u> <u>Season 2012/13</u>



## **Table of Contents**

Content	Page Number
Secretary's Note	4
President Report	5
Office Bearers	6
Sponsors List	7
Junior Report	8
First XI Report	9
Second XI Report	13
Third XI Report	17
Fourth XI Report	21
Fifth XI Report	24
T20 Statistics	27
Team Records Season 2012/13	28
Club Top Ten Records	35
Basil Finnigan Medal Winners	37
Aggregate Season Statistics All Players	38
Aggregate Career Statistics All Players	42
Honour Boards	46



12 June 2013

Dear Member,

It is my pleasure to present, on behalf of President Daniel Burt and the committee, the Annual Report for season 2012/2013.

The 46th year of S.T.C. Cricket Club was an extremely successful season for the club both on and of the field. The report, which will be tabled at the Annual General Meeting for season 2012/13, will outline the season that was off field as well as providing a summation of all S.T.C. teams and statistical records for the season. I would like to offer a sincere thank-you to John Krohn for compiling all the statistics contained in this report.

On a personal note, it has been a great honour to serve the club in the role as Secretary this season. To follow in the footsteps of my highly esteemed predecessors was a daunting task, however, thanks to the over-whelming support and assistance provided by both President Daniel Burt and Kylie Zennaro my role was made infinitely easier. I am looking forward to resuming a role on the committee again once I am back from overseas.

I wish best of luck to whomever fills the vacant roles on the committee for Season 2013/14.

Yours sincerely,

**Tim Sharpe** Secretary

STC SOUTH CAMBERWELL CRICKET CLUB PO BOX 2037 CAMBERWELL WEST VIC 3124 E: INFO@STCCRICKET.COM.AU W: WWW.STCCRICKET.COM.AU

## Presidents Report

What an amazing season we had in 2012/13, winning a total of 4 premierships, and reminding all other clubs that we are a powerhouse in the synthetic grade of the ECA! The premierships included two in the senior competition, with our First XI going back to back in the top grade for the first time. Our C grade team is also the first non-1<sup>st</sup> XI premiership in some ten seasons. Well done to our premiership captains, Luke D'Astoli and Adam Burt, as well as all of their players. Our junior program saw unprecedented success, with a record 8 teams, all four of our U/14 and U/16 sides making the finals, with the U/16B side winning the grand final, and our U/12B undefeated on top and taking out the premiership.

We saw a wave of new players at the club, with several debutants in the 1<sup>st</sup> XI, and numerous others playing their first full seasons for the club. The committee embarked on a recruiting drive in the pre-season, and the success of this was evident with 4 new players being a part of the successful senior premiership sides.

Off the field, the club had one of the strongest and most enjoyable social calendars of any club in the ECA. The Melbourne Cup Day function saw over 60 people attend Nettleton Park on Cup Day, an event which will hopefully become a staple of the STC Social Calendar. The Day at the Sandown Dogs function was again a great success, and an easy money maker for the club. We had a much more successful Christmas Party than the year before, and our Basil Finnegan Medal which we combined with a past players night packed everyone into Nettleton Park to see Sam Fairbrother win his first Basil Finnegan Medal. We also celebrated the end of the season with our presentation night at Merrimu Receptions, with over 90 people in attendance, who all saw Steve Ross become the 24<sup>th</sup> Life Member of the club, congratulations Kerners!

The continued development of our younger players at the club has been really great to see, from the current U16s like Harry Douglas and Xavier Wigg making runs and taking wickets in the 3s and 4s, to the performances of Alex Brebner-Griffin, Matt Thomas and Matt Doran in the 1s and 2s. The club has a very promising future.

The club has faced a significant increase in costs in recent years, which had the potential to impact on the clubs finances unless we took a prudent approach to the management of our costs and revenues. Our ground tenancy went up significantly, and council are now charging us utilities under a draconian system of cost allocation. However, we have managed to cover these cost increases, and turned a significant loss from last season, into a strong, healthy profit for 2012/13.

I would like to thank all of those on the committee this season for their help and assistance, particularly those on the Executive. Beau Coyle, Tim Sharpe and Matthew Francis were all first time Executive members, and they should all be proud of their efforts during the year. There were times this season when the committee wasn't operating as effectively as it could have. In that regard, it is important that those who nominate for, and accept committee positions are committed to doing the job that is required of them, otherwise it places significant pressure on others to pick up the slack.

I would also like to thank all of our club sponsors for their financial support, particularly JA Cain, Bendigo Bank and Behan & Behan. It would be remiss of me not to also thank the tireless work done by Brad Craine our Chairman of Selectors, as well as Jack Krohn who deputised whilst Brad was away. Whilst we again struggled for numbers at times during the season, we managed to keep our 5<sup>th</sup> XI and played every game without one forfeit. With a continued focus on recruiting, I believe we will be able to maintain the 5<sup>th</sup> XI which is in the best interests of the club.

After four years on the Executive, I will be standing down from all committee positions for the time being, to spend more time at home with Lisa and Oscar. I have thoroughly enjoyed my time in both the Treasurer and Presidents role, and I firmly believe the club is in a very strong position both on and off-field.

**Daniel Burt** President

## **Office Bearers Season**

Position	Representative
President	Daniel Burt
Senior Vice-President	Matthew Francis
Junior Vice-President	Bernard Docherty
Secretary	Tim Sharpe
Treasurer	Beau Coyle
	Michael O'Connell
	Tom Sandilands
	Ben Banks-Smith
General Committee	Tom Bach
	Tom Casha
	Brendan David
	Peter Morrison
	Daniel Burt
ECA Delegates	Tim Sharpe
Public Officer	Tim Sharpe

Team	Captain
1 <sup>st</sup> XI	Luke D'Astoli
2 <sup>nd</sup> XI	Rohan Worthy
3rd XI	Adam Burt
4 <sup>th</sup> XI	James Henderson
5 <sup>th</sup> XI	Joseph O'Connell

Position	Representative
Chairman of Selectors	Brad Craine
	Jack Krohn
Selection Committee	Steve O'Connell
	Sam Fairbrother

## **STC Sponsors**

Sponsor	Contact	Telephone	Website/Email
JA Cain First National Real Estate	Brian Cain	9805 2900	www.jacain.com.au
Bendigo Community Bank Ashburton, Canterbury & Surrey Hills Branches	Fiona Kerr	9885 2666	<u>www.bendigobank.com.a</u> <u>บ</u>
Behan & Behan Pty Ltd	Ed Behan	9877 3577	ebehan@behan.com.au
Quest Apartments Prahran	Sarah Behan	9823 8888	<u>www.questprahran.com.a</u> <u>u</u>
Camberwell South Cellars		9889 6119	http://www.camberwells outhcellars.com.au/
Purcell and Purcell	Anthony Purcell	9741 3777	anthony@purcellandpurc ell.com.au
Custom Financial and Retirement Solutions	Bernard Docherty	9590 0094	www.cfrs.amp.com.au
Back in Motion	Adrian Quinn	9889 3903	www.backinmotion.com. au/practice/details/cam berwell1
Sandilands Export	Peter Sandilands	0417 576 242	sandilands@primus.com. au
Monsoon Landscapes	Liam Sierakowski	0421 712 269	http://www.monsoonlan dscapes.com.au/

## **STC Junior Report**

It is a pleasure that on behalf of the STC Cricket Club I present a report detailing an amazing season for our clubs junior teams. Firstly I would like to congratulate our senior 1<sup>st</sup>. X1 and 3rd. X1 on their successes in winning two premierships for STC. It was nice watching so many former junior players playing in those sides and to see so many junior members cheering on the seniors on grand final day.

A significant part of our STC culture is the involvement of our senior and junior teams coaching and supporting each other. The 2012/13 cricket season continued many fine seasons for STC junior teams. For the first time we fielded 8 sides, two in each age group. We recruited new players and families to our club and maintained strong friendships with our eXIsting players and their families.

One of the joys is seeing everyone come back each year a bit stronger and wiser ready to contribute for STC. We are very lucky to have so many volunteers: our coaches, team managers, senior players and our parents. We are indebted to them for their support for what we are trying to pass on. I'd particularly like to thank Father Dowling and the parishioners of St.Cecilia's for their support and loyalty, including the use of the parish hall for our presentation night and for hosting the Blessing of the Season Mass in October each year.

A special thanks to our head coach Basil Finnigan. Baz has been involved with STC since the 1970's as a player and coach. This season he coached our boys every Tuesday and Thursday and attended matches every Friday night and Saturday morning. He was directly involved with the under 12 Reds and under 16 Reds, both played beautifully all season, culminating with premierships in their respective divisions. Tremendous reward for the boys, Baz and STC.

Regularly filling 88 spots each round is a tough job. On many occasions players had to fill in for other sides or play in a different team to what they were in the previous year. The fact this happened so smoothly again highlights the spirit we have within our club and is a credit to the players, parents and team coaches.

To our inspiring coaches and team managers, your efforts don't go unnoticed, your constant encouragement of the players and interest in improving their skills and knowledge of the game is an enormous benefit to them and to STC.

Well done Carl Nunan (premiership coach), Chris Wigg, Peter MacDonald, Paul Jackson, Richard Briggs, Peter Sheehan and Dave Foley (Premiership Coaches), Alex King, Stephen Harrison, Michael Hynes, MaXIne Bland and Patrick Docherty. Pat even recruited Grace Docherty to play her first game to help her brothers under 10 team.

Off field we re opened the canteen for the first time for many years, a delight for many, enjoying what was on offer and financially beneficial as we raised much needed funds. Sincere thanks to Georgie O'Leary, Olivier Vance, Emily Bonato, Angus McLean and Benedict O'Leary for your tireless work.

For the parents we held a very successful dads and mum cricket day with over 44 players involved, thanks must go to Pete Sheehan.

On field success is always hard to measure at junior level. The fact we won 2 flags this season is a bonus, the shining light for us all is that so many brothers, sisters and their families enjoy coming down the STC.

We look forward to seeing you next season!

**Bernard Docherty.** Junior Vice-President

## <u>First XI Report</u>

Despite the threat of a premiership hangover, a poor pre-season, the disruption that came with 21 different players playing during the season and strong opposition from a hungry Boroondara and accomplished new side Edinburgh, the STC First XI achieved what it had never done before and secured back to back MacGibbon Shields!

That we did this was a tribute to the desire to consistently perform at our best regardless of the opposition, which meant that our grand final win capped a 14 game winning streak after losing a lone game in round one against Deepdene.

We proved yet again that when placed under pressure we have the resolve to perform at our best and come up trumps. A slow start from run machine Steve O'Connell meant that our batsmen had the opportunity to step up and make match winning contributions which they did as we had seven players score over 200 runs for the season.

From a team perspective our highlights included:

- Attempting three outright victories against the bottom three sides. We came up just short each time but it's a good problem to have.
- Our grand final replay against Boroondara in round 4 where Lawrence Colman led the attack as we rolled them for 131. In reply we were in a huge amount of trouble at 3/10 which brought together Dan O'Connell (59) and Sam Fairbrother (72) who launched a stunning counter attack and destroyed the Boroondara bowling line up, highlighted by Fairy hitting three consecutive 6s onto the Ashburton pools rooftop. We secured victory in just the 17<sup>th</sup> over of the innings.
- Our first ever match against Edinburgh at the sandpit that was Peterson Oval was a classic. Coming into the game without Colman and Adam D'Addazio we won the toss and batted, making 148 on an extremely slow outfield. Bowling in 35+ degree heat, the bowlers toiled away with Edinburgh reaching 2/81 before a stunning collapse was triggered by Luke D'Astoli (5/36) and Rohan Worthy (3/23). An astonishing change of weather conditions saw the bowlers having to battle gale force winds as Edinburgh closed in on the total before we eventually secured a 3 run victory, triggering jubilant celebrations.
- The final round of the season against Clifton Hill and their tear away quick Dalis Thomas saw Sam Fairbrother captain the side for the first time in my absence. As the team fell to 5/148 on the lightning fast Warner Reserve, the stand in captain (102) was joined by Tom Casha (115) and the pair stood up under pressure to record a 191 run partnership as they steered the side to safety in emphatic style.
- The finals campaign featured an extraordinary match against Edinburgh as Steve O'Connell (125) struck top form at the right time with a masterful century that formed the backbone of our innings. He was well supported by Tom Bach (65) and Fairy who played another brutal hand, striking 91 of just 64 balls in a game breaking innings. Defending 365 was no fait accompli as we bowled at Warner with temperatures hovering around 40 degrees against a strong batting line up. A disciplined effort saw us come up trumps by 20 runs in a tense contest.
- The grand final saw us lose the toss and asked to bowl on a day that would see rain interrupt once before ending the day 90 minutes early. We bowled with tremendous discipline on day one, keeping the run scoring down and removing the three key wickets leaving Boroondara on 3/139 off 58 overs. On the second day Luke (3/83) and Adam D'Addazio (4/44) took the ball and proceeded to skittle Boroondara's middle and lower order as we rolled them for 189, man of the match Adam taking 3/13 off 9 overs on the second day. Mindful of the poor start to our chase last year, Ben Banks-Smith and Tom Bach saw off the crucial new ball period before Ben fell in the 10<sup>th</sup> over, as the score was 1/14. Luke Javernik (47) strode to the middle in his first senior grand final and despite some nervous moments, played a crucial hand as he combined with Tom (64) to take the game from Boroondara with a patient 105 run stand before the two fell in quick succession. With plenty of overs in hand, there was a complication as we sought to complete the chase before the end of day two. Losing a few wickets in the process, the time was 5:57pm when Tom Casha struck his third ball past the bowler for four to secure our fourth MacGibbon Shield.

It was an amazing season that featured six centuries and three 5-wicket hauls from our players including breakthrough centuries to Sam Fairbrother, Ben Banks-Smith (who brought up his century with a 6 off the last

ball of the innings against AYC off 53 balls!) and Tom Casha, while Tom Bach (104\*) also played a faultless innings as he brought up his century against AYC as we batted for a declaration.

We saw the emergence of a superstar as Sam moved from a gifted talent to becoming a devastating match winner, hitting 623 runs and taking 17 wickets on his way to his maiden Basil Finnigan Medal, Club Champion and Batting Award. It was a joy to behold and bodes well for the future.

We welcomed newcomers to the side with Simon Hearn, Luke Javernik, Alex Brebner-Griffin and Matt Thomas all making strong impressions as the next generation looks promising.

Congratulations to all involved in the First XI on an outstanding season. We have now won the most MacGibbon Shields and are the premier synthetic club in the ECA.

Thanks to the committee, the wives, girlfriends and parents of the players and the rest of the supporters who make this club great. The next challenge: the three-peat!

#### <u>T20</u>

Our Kookaburra T20 Cup campaign featured highs and lows. We kicked off our campaign with a heart breaking two run loss to Glen Iris, a match that featured an astonishing 10 run outs. Beau Coyle was the pick of the bowlers with 2/20 while Dan launched a sparkling burst of 35 off 16 balls to begin our run chase.

Our next matches against Trinity and St Kevins at Swinburne became the Sam Fairbrother Show as he struck 46 off 21 balls and 75 off 53 balls as we enjoyed comprehensive victories, passing Trinity in just six overs.

Our round of 16 match, featured a superb partnership between Steve O'Connell and Tom Bach as they endured a torrid turf pitch and put on 80 in 9 overs to set up a defendable score of 131. Our bowlers did a great job to restrict Boronia to 8/119 in reply.

Our campaign ended in the quarter finals against eventual champion Heathmont who convincingly outplayed us as we lost by 62 runs. To continue to progress in this competition, our batsmen will need to better adjust to the demands that come from playing on turf.

**Luke D'Astoli** First XI Captain

#### **Premiership Team**

Ben Banks-Smith Tom Bach Luke Javernik Steve O'Connell Sam Fairbrother Dan O'Connell Luke D'Astoli © Tom Casha Lawrence Colman Rohan Worthy Adam D'Addazio Russ Flint (12<sup>th</sup> Man)

### Season Awards

Batting Average: Sam Fairbrother Bowling Average: Luke D'Astoli Club Champion: Sam Fairbother Tulloch Medal (Grand Final Man of the Match): Adam D'Addazio Burt Medallist: Tom Bach ECA Batting Average: Sam Fairbrother ECA Team of the Year: Luke D'Astoli , Sam Fairbrother, Steve O'Connell

Jack Krohn Trophy (T20 player of the year): Luke D'Astoli

#### **First XI Season Statistics**

Player	From	Gm s	Rn s	Ou t	Avg	5 0	10 0	Hs	W k	Run s	Avg	5W I	BB	C(F )	C(W )	S t
Bach S	00/0 1	0	-	-	-	-	-	-	-	-	-	-	-	1	-	-
Bach Tom	98/9 9	10	355	9	39. 4	2	1	104 *	0	0	-	0	0/0	8	-	-
Banks- Smith B	98/9 9	11	273	9	30. 3	1	1	101 *	0	4	-	0	0/4	7	-	-
Brebner- Griffin A	09/1 0	5	176	3	58. 7	2	0	58*	-	-	-	-	-	2	-	-
Casha T	03/0 4	15	281	10	28. 1	0	1	115	9	365	40. 6	0	3/3 3	5	-	-
Colman L	02/0 3	13	73	6	12. 2	0	0	37	20	396	19. 8	0	4/1 7	5	-	-
Coyle B	03/0 4	2	1	1	1.0	0	0	1	1	19	19. 0	0	1/1 9	0	-	-
Craine B	02/0 3	1	2	1	2.0	0	0	2	0	4	-	0	0/4	0	-	-
D'Addazio A	04/0 5	13	10	2	5.0	0	0	5*	26	586	22. 5	0	4/4 4	6	-	-
D'Astoli L	96/9 7	14	124	3	41. 3	0	0	39*	38	627	16. 5	2	5/3 6	7	-	-
Fairbrothe r S	09/1 0	14	623	12	51. 9	3	2	123	17	393	23. 1	1	5/5 8	6	-	-
Flint R	06/0 7	12	139	6	23. 2	0	0	34	8	219	27. 4	0	2/1 0	9	-	-
Hearn S	06/0 7	1	-	-	-	-	-	-	-	-	-	-	-	0	-	-
Jarvis M	12/1 3	4	34	3	11. 3	0	0	22	3	88	29. 3	0	2/4 0	1	-	-
Javernik L	09/1 0	8	204	8	25. 5	1	0	66	-	-	-	-	-	3	3	0
O'Connell D	96/9 7	13	211	10	21. 1	1	0	59	0	6	-	0	0/6	3	-	-
O'Connell M	99/0 0	2	0	1	0.0	0	0	0	0	6	-	0	0/6	3	-	-
O'Connell S	93/9 4	14	426	14	30. 4	2	1	125	0	8	-	0	0/8	2	18	1
Rowe S	98/9 9	0	-	-	-	-	-	-	-	-	-	-	-	1	-	-
Sharpe D	03/0 4	1	0	1	0.0	0	0	0	-	-	-	-	-	0	-	-
Spithill D	97/9 8	2	15	2	7.5	0	0	15	2	65	32. 5	0	2/4 2	1	-	-

Thomas M	09/1 0	1	5	1	5.0	0	0	5	3	30	10. 0	0	3/3 0	0	-	-
Williams M	03/0 4	1	4	1	4.0	0	0	4*	-	-	-	-	-	1	-	-
Worthy R	03/0 4	8	4	1	4.0	0	0	4*	19	330	17. 4	0	3/2 3	6	-	-

## Second XI Report

This season was a successful one for the 2<sup>nd</sup> XI, which might seem unusual to say, since we didn't make the finals. But we won 8 games & lost 5 to finish equal on points with 4<sup>th</sup> place, missing out by 0.04%. This win / loss record would have seen the team playing finals in every other grade of the ECA. Looking back on the year there are many games when we could have gained a better percentage, but our best chance of getting into the finals came in rounds 11 & 13 when we came within a whisker of winning outright in both games.

The season started off on an extremely cold & rainy day for round 1, which saw most games abandoned. We played through the adverse weather & it was really pleasing to have many club members come down & watch us beat BUC who were to go on to play in the grand final. It was in this game that Matt Thomas made 103 runs. This was an extremely mature knock from Matty & I had great pleasure in giving him a giant hug when he made his ton. Not content with just making a ton, he took 4 wickets the next week. Matty is a very talented cricketer & I hope he gets kicked out of the Singapore army so he can keep playing cricket at STC.

From there the season ebbed & flowed with the team winning games, but also dropping some which we could have won. Our last game before Christmas was an outstanding team performance with us beating Knox Churches by 211 runs. After Christmas we were to lose just one more game, but other results just wouldn't go our way.

In round 11 we played Deepdene, & what looked like a standard win at tea on the 2<sup>nd</sup> day turned into an exhilarating run chase for outright points after we bowled them out for 74 in their 2<sup>nd</sup> innings. We had 5 overs to make 64 runs. Scoring 11 & 12 runs in the first 2 overs was a great start but we fell just short.

Coming into the last round against our friends Trinity we knew we had to either make up a lot of percentage or win outright. After some explosive batting by Mick O'Connell & Liam Sierakowski we left ourselves with 36 overs to bowl Trinity out in their 2<sup>nd</sup> innings. They were 5 down after 14 overs but we could only manage to get them 8 wickets down. Beau Coyle finished with amazing match figures of 9/96. The effort of the guys right to the very end was amazing & showed me that, had we made finals, we would have been a force to reckon with.

I am very proud to have won the premiership in the first XI. When I applied for the captaincy of the 2's I asked that if I was needed in the 1's then I would play there. I had hoped to spend all season in the 2's but it wasn't to be. I captained the 2's for over half their games & enjoyed it immensely. I hope to captain the team again next year.

I would like to thank the 5 other players who took the captaincy while I was in the 1's. Thanks Brad Craine, Ben Banks Smith, Mick O'Connell, Beau Coyle & Dan Sharpe. It is great to have so many leaders at our club. I would especially like to thank Crainey & Sharpey for helping me while I was learning the captaining caper.

The batting award was won by Matt Williams with 315 runs @ 26.25. I watched him during pre season training & was very impressed with the amount of time he has to play the ball. Having given up bowling due to a back injury he had set himself for a big year with the bat & I locked him in as my number 3 bat for the year

The bowling award was won by Matt Doran with 22 wickets @ 21.23. Like Willo he played all bar 1 game in the 2's this year & opened the bowling on most occasions. This is very impressive for a 17 year old. His in-swinger to the right hander is a devastating delivery & the extra pace he gained this year made him very difficult to face. The most important piece of advice I gave him this year was "You can't stare down a batsman if you look like One Direction". Matty also took out the team champion & I know he has a great future for STC.

The youngsters performed wonderfully this year but the elder statesmen can't be forgotten either. Jack Krohn, Peter Lynch & Chris Giannakopoulos all played crucial innings during the season. They prove that age doesn't dictate your cricketing ability.

I'd like to thank Dan Burt and the committee for the tremendous work they do throughout the year. I'd like to thank Brad Craine & the selectors for getting 55 cricketers on the park each week. I'd like to thank Schwatta for

the awesome lunches this year. Finally I'd like to thank my family. Lisa, Luke & Tara let me keep doing what I do well. Playing cricket & sitting down watching other people play cricket.

Cheers & GO SAINTS!!

**Rohan Worthy.** Second XI Captain.

#### Season Awards

Batting Average: Matt Williams Bowling Average: Matt Doran Team Champion: Matt Doran

## Second XI Season Statistics

Player	Enom	Gm	Rn	Ou	A	5	10	Hs	W	Run	A	5W	BB	C(F	C(W	S
	From	S	S	t	Avg	0	0		k	S	Avg	Ι		)	)	t
Banks-Smith B	98/9 9	2	27	2	13. 5	0	0	16	-	-	-	-	-	-	5	0
Coyle B	03/0 4	9	13 5	9	15. 0	0	0	43*	14	288	20. 6	1	5/5 5	5	-	-
Craine B	02/0 3	7	15 3	7	21. 9	1	0	73	0	5	-	0	0/5	1	-	-
D'Addazio F	07/0 8	10	14 4	8	18. 0	0	0	24	4	103	25. 7	0	2/3 0	4	-	-
D'Astoli L	96/9 7	1	67	1	67. 0	1	0	67	1	31	31. 0	0	1/3 1	-	-	-
Doran M	9 09/1 0	12	41	5	8.2	0	0	17	22	467	0 21. 3	0	4/3 9	4	-	-
Giannakopoul os C	08/0	4	27	5	5.4	0	0	10	-	-	-	-	-	0	-	-
Hamilton A	9 06/0 7	3	90	4	22. 5	0	0	47	5	119	23. 8	0	3/6	0	-	-
Hando D	09/1	2	24	1	24. 0	0	0	24	-	-	-	-	-	0	-	-
Hearn S	0 06/0 7	5	73	5	0 14. 6	1	0	51	6	160	26. 7	0	3/3 9	1	-	-
Jayasuriya D	12/1 3	3	33	2	16. 5	0	0	14	4	99	7 24. 7	0	2/1 9	1	-	-
King A	08/0	2	26	2	13. 0	0	0	25	1	27	27. 0	0	1/2 7	3	-	-
Krohn A	06/0 7	2	31	2	15. 5	0	0	21	1	9	9.0	0	1/9	1	-	-
Krohn J	74/7 5	2	30	2	15. 0	0	0	18	-	-	-	-	-	-	3	3
Lynch P	89/9 0	5	91	6	15. 2	0	0	44	0	26	-	0	0/2 6	1	-	-
McDonald R	09/1 0	3	0	1	0.0	0	0	0	3	48	16. 0	0	2/2 2	0	-	-
Morrison P	99/0 0	7	20 9	3	69. 7	1	0	83	4	94	23. 5	0	2/1 2	1	-	-
O'Connell D	96/9 7	1	4	1	4.0	0	0	4	-	-	-	-	-	2	-	-
O'Connell M	99/0 0	8	20 8	7	29. 7	1	0	54	0	78	-	0	0/7	1	2	0
Ravindranath R	11/1 2	1	39	1	39. 0	0	0	39	0	18	-	0	0/1 8	1	-	-
Sandilands T	98/9 9	4	10 6	4	26. 5	1	0	50	0	2	-	0	0/2	2	-	-
Shallue M	09/1 0	3	80	2	40. 0	0	0	48	-	-	-	-	-	0	2	0
Sharpe D	03/0 4	8	14 1	8	17. 6	0	0	46	-	-	-	-	-	2	6	0
Sierakowski L	09/1 0	4	11 8	5	23. 6	0	0	46	3	122	40. 7	0	2/2 8	1	-	-
Spithill D	97/9 8	4	22	2	11. 0	0	0	14*	9	128	14. 2	0	2/1 9	0	-	-
Thomas M	09/1 0	4	16 8	4	42. 0	1	0	10 3	9	100	11. 1	0	4/3 3	1	-	-
Wigg X	10/1 1	1	9	1	9.0	0	0	9	2	21	10. 5	0	2/2 1	1	-	-

Player	From	Gm	Rn	Ou	Avg	5	10	Hs	W	Run	Avg	5W	BB	C(F	C(W	S
layer	PTOIII	S	S	t	Avg	0	0	115	k	S	Avg	Ι	DD	)	)	t
Williams M	03/0	11	31	12	26.	2	0	73	-	-	-	-	-	3	-	-
	4		5		3											
Wood T	08/0	8	5	1	5.0	0	0	2*	6	196	32.	0	3/1	6	-	-
	9										7		7			
Worthy R	03/0	7	83	2	41.	0	0	46	10	154	15.	0	3/2	3	-	-
	4				5						4		1			

## Third XI Report

The Third XI had a season that encapsulated all that is good about STC. Young players were exposed to senior cricket, the club was, at all times represented with distinction, Schwatta smoked plenty of Darts, oh and we won a flag!

New players joined the team in droves with two in particular proving to be invaluable in chasing the club's 19<sup>th</sup> premiership flag. Gamini Jayasinghe and Dinuka Jayasuriya were highly accomplishe middle order batsmen, brilliant fielders and in Dinuka's case, game changing bowlers. Juniors also played many games and continued what will surely be long and successful careers playing senior cricket for the greatest cricket club in Australia, Dom Hando proved he has the safest hands in C grade taking 9 catches and dropping none in only 7 games. Xavier Wigg played his first game in the 3s and acquitted himself brilliantly and James and Tom Briggs also played in a crushing win over Mazenod when they took the field with the father Richard. It is this new blood and vetting of the juniors that allows this club to be as successful as it has over the last 46 years.

The 2012-13 year for the People's XI was a truly remarkable one. The side did not lose a game. In fact, it tied one game after a momentous batting collapse against Trinity Willison but with the exception of that it was a flawless season.

The year was punctuated by many brilliant individual performances. Two unbeaten tons by Peter Lynch not only saw him take out the team's batting average it also saw him finishing 3<sup>rd</sup> in the association batting averages. Pete carried his bat in both innings! One of the most entertaining innings I've ever had the pleasure to watch was David Spithill's 111\* against Trinity Willison. The team was looking a little shaky at the 30 over mark but that's when Moose got settled, having only walked to the crease in the 27<sup>th</sup> over Moose brought up his century in just 11 overs, at one stage taking 37 runs off a single over! Dinuka Jayasuriya's match saving 100 against Ashwood after being 7/140 aided the team to finish with 9/336. The 4 centuries were also supported by two 5 wicket hauls for our bowlers; Raj Ravindranath's 5/35 against East Doncaster ruined any chance they had of chasing down 184 on a small ground and Peter Morrison's gutsy 5/34 was taken on one leg in the semi final against some quality batting from Ashwood.

The team's season performances were also of high note, on 3 occasions the team scored over 250 runs in one day games. In the 5 two-day games after Christmas, including the semi final and the grand final the side averaged a score of 334 runs per innings, incredible numbers given the fact that 4 of those 5 games were against eventual finalists Ashwood (twice), Heathmont, East Doncaster and Mazenod. The team won 4 games by over 100 runs and in one memorable encounter against Mazenod posted an impressive 273 run victory.

The finals proved to be the greatest challenge of the season however, so they should. So, the semi final involved playing Ashwood at The Field of Dreams. It is this game that would prove to be our toughest game of the season. 2 separate batting collapses had us at 3 for 28 and 7 for 140 respectively. Only Tom Sandilands showed what finals batting was about with his stoic 69 batting at number 4. At this stage, Dinuka Jayasuriya, was on 27 and was joined at the crease by Andrew Krohn. The two of them went on to compile a 116 run, game changing partnership. It only ended when Dinuka was dismissed for his first ever century, finishing with exactly 100. But it didn't end there, Schwatta more than doubled the amount of runs he scored that season when he made 30, by the end of the day's play we were 9/ 336 and Andrew Krohn was on 75 not out. When it came to Ashwood's batting we knew two things, they had 3 very good batsmen and after that they have a bunch of dead set bunnies.

Unfortunately 2 of these 3 good bats played very well. When Ashwood for 3/180 I was understandably worried. But then, one of the gutsiest things I have seen on a cricket field took place. After pinging his Hamstring in his opening spell Peter Morrison put his hand up to come back on and bowl what would be the spell that would change the game, a spell that was bowled on one leg. Morrow took 4 of the next 6 wickets, ripping through Ashwood's middle order and any hope they had of taking the chocolates. They lost 7 for 50 in the end, Morrow finished with the figures of 5 for 34 and it was a grand final berth for us.

The Grand final was a little less nerve wracking than the semi final. A slow but steady start with the bat meant although we weren't piling on the runs, we weren't losing wickets quickly either. Peter Morrison had just joined Dinuka at the crease when the rain came. We took an early tea, and in the 20 overs that were bowled after tea Morrow, Dinuka and Liam Sierakowski put the game into our hands. They made 101 runs in just 20 overs after tea, taking full advantage of the wet ball. It meant we finished our innings on an easily defendable 211, Dinuka once again top scoring with 50 and Sirra finishing with 42. So we took the field knowing we had the talent to bowl our Heathmont for well less than our score and we did. An amazing run out by Dinuka, sharp catching from Lynchy in the slips and an amazing clutch catch by Sirra when he had to run and get under a skied ball from one of their better bats. We had to work harder for it that we though with their final pair putting on 50 runs but a comical run out meant Heathmont were bowled out for 154 and we were premiers.

It was my first year in a captaincy role and I relished the extra responsibility that came with this position. My speeches when wickets were taken have been described as "tear inducing", "inspirational" and "a massive death". Only two tosses were lost for the entire season, but most importantly, in conjunction with winning games great fun was had by all who played in The People's XI. It was an amazing year that could not have ended any better, for the club or for the team itself, I hope to remain captain next year also and look forward to the challenges that a being in a higher grade bring.

Kind Regards,

Adam Burt Third XI Captain

### Season Awards

Batting Average: Peter Lynch Bowling Average: Matt Francis Team Champion: Adam Burt

## **Third XI Season Statistics**

Player	Fro m	Gm s	Rn s	Ou t	Avg	5 0	10 0	Hs	W k	Run s	Av g	5W I	BB	C(F )	C(W )	S t
Briggs J	12/1 3	1	0	1	0.0	0	0	0	0	15	-	0	0/1 5	0	-	-
Briggs R	12/1 3	1	0	1	0.0	0	0	0	-	-	-	-	-	0	-	-
Briggs T	12/1 3	1	2	1	2.0	0	0	2	-	-	-	-	-	0	-	-
Burt A	94/9 5	14	46 7	14	33.4	5	0	88	2	41	20. 5	0	1/8	7	-	-
Burt D	92/9 3	5	12	3	4.0	0	0	7	5	130	26. 0	0	2/2 4	1	-	-
Craine B	02/0 3	1	49	1	49.0	0	0	49	2	37	18. 5	0	2/3 7	0	-	-
D'Addazio F	07/0 8	1	12	1	12.0	0	0	12	-	-	-	-	-	-	-	-
David B	07/0 8	6	68	2	22.7	0	0	28	10	144	14. 4	0	3/3 4	1	-	-
Douglas H	11/1 2	1	79	1	79.0	1	0	79	0	30	-	0	0/3 0	0	-	-
Doyle D	07/0 8	1	-	-	-	-	-	-	3	49	16. 3	0	3/4 9	0	-	-
Francis M	98/9 9	12	56	3	18.7	0	0	30	17	412	24. 2	0	3/5 2	4	-	-
Giannakopoul os C	08/0 9	6	11 1	4	27.8	0	0	48	0	23	-	0	0/2 3	2	-	-
Hando D	09/1 0	7	82	4	20.5	1	0	51*	11	221	20. 1	0	4/2 8	9	-	-
Jayasinghe G	11/1 2	8	20 4	7	29.1	1	0	56	-	-	-	-	-	2	-	-
Jayasuriya D	12/1 3	6	37 3	5	74.6	3	1	100	16	290	18. 1	0	4/3 9	5	-	-
Jayasuriya S	11/1 2	3	37	2	18.5	0	0	36	0	11	-	0	0/1 1	1	-	-
Jowett S	05/0 6	1	10	1	10.0	0	0	10	-	-	-	-	-	0	-	-
King A	08/0 9	1	33	0	-	0	0	33*	1	46	46. 0	0	1/4 6	0	-	-
Krohn A	06/0 7	5	25 1	4	62.8	2	0	86	2	47	23. 5	0	1/7	1	0	0
Krohn J	74/7 5	10	80	5	16.0	0	0	35	-	-	-	-	-	-	19	1
Lynch M	94/9 5	6	33	0	-	0	0	29*	10	203	20. 3	0	3/4 9	2	-	-
Lynch P	89/9 0	9	31 4	7	44.9	0	2	118 *	-	-	-	-	-	8	-	-
Morrison P	99/0 0	5	11 9	5	23.8	1	0	66	13	115	8.8	1	5/3 4	2	-	-
O'Connell J	02/0 3	1	49	0	-	0	0	49*	-	-	-	-	-	-	2	0
Pumpa B	12/1 3	1	10	1	10.0	0	0	10	3	19	6.3	0	3/1 9	1	-	-
Ravindranath R	11/1 2	9	25	2	12.5	0	0	11*	12	221	18. 4	1	5/3 5	1	-	-
Rowe S	98/9 9	2	11	1	11.0	0	0	11	-	-	-	-	-	1	-	-

Sandilands T	98/9	7	21	7	31.1	2	0	69	1	41	41.	0	1/1	9	-	=
	9		8								0		6			
Sargeant T	11/1	4	64	3	21.3	0	0	29	-	-	-	-	-	1	-	-
	2															
Sharpe T	05/0	5	85	4	21.3	1	0	54	-	-	-	-	-	-	7	0
	6															
Sierakowski L	09/1	3	13	3	44.7	1	0	92	3	57	19.	0	2/1	2	-	-
	0		4								0		7			
Spithill D	97/9	3	12	1	127.	0	1	111	7	50	7.1	0	4/1	3	-	-
	8		7		0			*					4			
Taylor M	12/1	2	42	1	42.0	0	0	28	4	60	15.	0	3/2	1	-	-
	3										0		4			
Terrill J	06/0	2	36	2	18.0	0	0	36	0	34	-	0	0/3	0	-	-
	7												4			
Wigg C	12/1	1	47	1	47.0	0	0	47	-	-	-	-	-	0	-	-
	3															
Wigg X	10/1	1	23	1	23.0	0	0	23	-	-	-	-	-	1	-	-
	1															

## Fourth XI Report

The 2012/2013 season can be classified as a period of ups and downs for a side that struggled for consistency and continuity. When the Fourth XI performed to its potential it threatened any side it came across, whilst at times matches proved an overwhelming challenge. Throughout the season we struggled with the weekly ins and outs and this is a concept that we will need to improve on moving forward.

The draw threw up some challenges early in the season with our first seven games played against eventual top four sides. Although we battled hard early in the season our first win wouldn't come until Round Four against Burnley. The rounds before Christmas posed the biggest selection headaches with our Round Five game versus Clifton Hill highlighting our lack of depth. Four players debuted for STC on that occasion.

Our post-Christmas performances were solid and provided us with the opportunity to make the final four. Unfortunately we were not quite able to secure enough wins to sneak into the finals action however the manner in which our players approached each contest and the pride they took in their own individual performances was a credit to the club. A positive and supportive culture was developed and maintained within the Fourth XI this year which proved an ideal environment to develop our junior cricketers.

The continued development of our juniors was most encouraging especially the performances of Harry Douglas and Xavier Wigg. Very early in the season Harry settled into the number three batting position. He played with maturity and poise beyond his years averaging 32.33 including three valuable half centuries. Harry also followed up his work with the bat to become a Fourth XI opening bowler, a heavy load for a young cricketer. Often Harry bowled without luck but finished with twelve wickets at 35.42 wand best bowling of 4/41.

Xavier Wigg took the next step this season performing under pressure a number of times with the bat averaging 32.00 and a highest score of 61. Aside from being a solid wicket keeper Xavier has developed into a handy partnership breaking bowler. As we look to the future we must continue developing our junior cricketers by providing an environment where they can flourish. The Fourth XI is definitely providing an exceptional breeding ground for STC's next champions.

All seasons have their highlights but it would be remiss not to mention the century makers from the Fourth XI in 2012/2013. Fabian D'Addazzio scored an outstanding 134 versus Deepdene in our Round Eight clash whilst Daniel Burt excited the crowds with his 124 against East Ivanhoe at Nettleton Park. There were many other solid performers during the course of the season including Stirling Rowe and Damien Vardy at the top of the order and Chris Wigg with a number of dominant performances with the bat. As mentioned Harry Douglas was a standout with the ball along with Daniel Burt and Peter Morrison when available for the Fourth XI.

I would like to thank the committee and all players who took the field for the Fourth XI for their support during my first year as captain. It was a privilege to captain a side of such a great club and I would like to thank in particular the assistance that was provided by Stirling Rowe, Daniel Burt and Gary Douglas. The job of captain is made much easier with the support of such passionate and dedicated STC members. I and the Fourth XI look forward to the challenges of next season and urge all players to make themselves available for a solid pre-season as we make a push for finals qualification in 2013/2014.

#### James Henderson

Fourth XI Captain

#### Season Awards

Batting Average: Harry Douglas Bowling Average: Trent Ellen Team Champion: Harry Douglas

## Fourth XI Season Statistics

Player	Fro m	Gm s	Rn s	Ou t	Avg	5 0	10 0	Hs	W k	Run s	Av g	5W I	BB	C(F )	C(W )	S t
Baddam A	11/1 2	2	75	2	37.5	1	0	75	1	53	53. 0	0	1/3 0	0	-	-
Bird J	12/1 3	1	13	1	13.0	0	0	13	-	-	-	-	-	1	-	-
Burt D	92/9 3	6	24 8	4	62.0	1	1	12 4	6	285	47. 5	0	2/3 3	3	-	-
Curry A	91/9 2	1	0	1	0.0	0	0	0	-	-	-	-	-	0	-	-
D'Addazio F	07/0 8	1	13 4	1	134. 0	0	1	13 4	0	39	-	0	0/3 9	1	-	-
David B	07/0 8	4	33	3	11.0	0	0	28	2	91	45. 5	0	2/3 4	4	-	-
Dhandapani A	10/1 1	1	1	0	-	0	0	1*	0	11	-	0	0/1 1	0	-	-
Douglas G	12/1 3	8	35	6	5.8	0	0	14	2	51	25. 5	0	2/1 6	3	-	-
Douglas H	11/1 2	9	29 1	9	32.3	3	0	73	12	425	35. 4	0	4/4 1	2	-	-
Ellen T	12/1 3	6	20	3	6.7	0	0	15	14	198	14. 1	1	6/7 2	2	-	-
Giannakopoul os C	08/0 9	2	79	1	79.0	1	0	79	1	9	9.0	0	1/9	0	-	-
Hando D	09/1 0	2	15	1	15.0	0	0	11 *	1	48	48. 0	0	1/1 3	2	-	-
Hearn S	06/0 7	1	19	1	19.0	0	0	19	-	-	-	-	-	0	-	-
Henderson J	03/0 4	10	34	7	6.8	0	0	12 *	10	103	10. 3	0	4/2 4	1	16	2
Huff P	12/1 3	6	13	4	3.3	0	0	8	2	125	62. 5	0	2/4 2	2	-	-
Jayasinghe G	11/1 2	3	10 9	3	36.3	1	0	70	0	27	-	0	0/7	0	-	-
Jayasuriya D	12/1 3	1	-	-	-	-	-	-	4	67	16. 7	0	4/6 7	1	-	-
Jayasuriya S	11/1 2	4	66	1	66.0	0	0	32 *	3	68	22. 7	0	2/3 9	1	-	-
Jowett S	05/0 6	2	11 9	2	59.5	1	0	84	0	14	-	0	0/1 4	2	-	-
Llewellyn S	12/1 3	1	44	1	44.0	0	0	44	-	-	-	-	-	0	-	-
Lynch M	94/9 5	2	-	-	-	-	-	-	2	69	34. 5	0	2/6 9	0	-	-
Moorhead T	10/1 1	3	4	1	4.0	0	0	4	3	135	45. 0	0	1/3 0	0	-	-
Morrison P	99/0 0	1	19	1	19.0	0	0	19 1	6	43	7.2	0	4/1 1	1	-	-
Nunan C	12/1 3	1	25	1	25.0	0	0	25	0	5	-	0	0/5	0	-	-
Nunan P	12/1 3	1	9	1	9.0	0	0	9	-	-	-	-	-	1	-	-
O'Connell M	99/0 0	1	13	1	13.0	0	0	13	-	-	-	-	-	0	-	-
Panetta D	12/1 3	5	30	3	10.0	0	0	30	1	26	26. 0	0	1/1 3	2	-	-

Parker J	12/1	4	15	1	15.0	0	0	9*	3	130	43.	0	2/6	0	_	-
	3										3		1			
Pumpa B	12/1	1	-	-	-	-	-	-	0	16	-	0	0/1	1	-	-
	3												6			
Ravindranath	11/1	2	2	1	2.0	0	0	2	0	39	-	0	0/3	0	-	-
R	2												9			
Rowe S	98/9	5	23	6	47.6	2	0	92	-	-	-	-	-	6	-	-
	9		8													
Sargeant T	11/1	2	2	1	2.0	0	0	2	5	125	25.	0	3/3	0	-	-
	2										0		1			
Siyanhuna O	12/1	2	3	1	3.0	0	0	3*	0	21	-	0	0/2	0	-	-
	3												1			
Smith M	12/1	2	13	1	13.0	0	0	13	0	63	-	0	0/2	0	-	-
	3												6			
Terrill J	06/0	3	35	2	17.5	0	0	31	5	132	26.	0	3/3	0	-	-
	7										4		8			
Trivedi D	11/1	2	0	1	0.0	0	0	0	0	21	-	0	0/2	0	-	-
	2												1			
Vardy D	11/1	7	20	7	29.4	1	0	78	0	93	-	0	0/3	6	0	0
	2		6										3			
Wigg C	12/1	7	19	4	49.0	1	0	83	-	-	-	-	-	2	3	0
-	3		6													
Wigg X	10/1	8	12	4	32	1	0	61	4	152	38.	0	2/2	2	5	1
	1		8								0		7			

## **Fifth XI Report**

No Report Submitted by Captain Joseph O'Connell.

#### Season Awards

Batting Average: Joseph O'Connell Bowling Average: Team Champion: Joseph O'Connell

### **Fifth XI Season Statistics**

Player	From	Gm s	Rn s	Ou t	Avg	5 0	10 0	Hs	W k	Run s	Avg	5W I	BB	C(F )	C(W )	S t
Bach S	00/01	3	17	1	17.0	0	0	11	0	28	-	0	0/1 3	2	2	0
Bach Tim	98/99	1	0	1	0.0	0	0	0	-	-	-	-	-	0	-	-
Bach Tom	98/99	1	3	1	3.0	0	0	3	-	-	-	-	-	0	-	-
Baddam A	11/12	1	1	1	1.0	0	0	1	0	50	0	0	0/5 0	0	-	-
Barnett S	11/12	1	5	1	5.0	0	0	5	-	-	-	-	-	0	-	-
Beaton P	12/13	1	1	1	1.0	0	0	1	1	26	26.0	0	1/2 6	0	-	-
Beaton R	12/13	1	14	1	14.0	0	0	14	-	-	-	-	-	0	-	-
Behan E	99/00	2	2	0	-	0	0	2*	3	98	32.7	0	2/5 8	1	-	-
Bird J	12/13	1	0	1	0.0	0	0	0	4	35	8.7	0	4/3 5	0	-	-
Brebner- Griffin A	09/10	1	14	1	14.0	0	0	14	1	6	6.0	0	1/6	0	-	-
Briggs J	12/13	4	22	3	7.3	0	0	16	2	152	76.0	0	1/3 4	0	-	-
Briggs R	12/13	5	37	5	7.4	0	0	22	2	94	47.0	0	2/2 1	4	-	-
Briggs T	12/13	2	13	1	13.0	0	0	13*	0	23	-	0	0/8	0	-	-
Burt D	92/93	3	66	3	22.0	0	0	27	4	119	29.7	0	3/6 0	1	-	-
Campbell A	12/13	1	20	1	20.0	0	0	20	1	23	23.0	0	1/2 3	1	-	-
Carolan L	12/13	5	18	4	4.5	0	0	9	0	13	-	0	0/1 3	0	-	-
Chalker H	12/13	5	48	4	12.0	0	0	22	2	107	53.5	0	1/2 0	0	-	-
Classon C	99/00	1	13	1	13.0	0	0	13	0	23	-	0	0/2 3	0	-	-
Cooper T	12/13	1	0	0	-	0	0	0*	0	18	-	0	0/1 8	0	-	-
Corbett R	90/91	1	8	1	8.0	0	0	8	0	39	-	0	0/3 9	0	-	-
Coyle B	03/04	1	35	0	-	0	0	35*	2	9	4.5	0	2/9	2	-	-
Craine B	02/03	1	15	1	15.0	0	0	15	2	38	19.0	0	2/3 8	0	-	-
Cudlipp B	12/13	1	7	0	-	0	0	7*	0	23	-	0	0/2 3	0	-	-
Curry A	91/92	6	73	6	12.2	0	0	29	-	-	-	-	-	0	-	-

Player	From	Gm s	Rn s	Ou t	Avg	5 0	10 0	Hs	W k	Run s	Avg	5W I	BB	C(F )	C(W )	S t
D'Addazio F	07/08	1	6	1	6.0	0	0	6	0	40	-	0	0/4 0	1	-	-
Dhandapani A	10/11	3	19	2	9.5	0	0	12*	1	65	65.0	0	1/4 1	1	-	-
Docherty B	78/79	2	11 4	1	114. 0	1	0	90*	1	38	38.0	0	1/3 8	0	-	-
Donahoe T	12/13	1	-	-	-	-	-	-	-	-	-	-	-	1	-	-
Douglas G	12/13	5	55	5	11.0	0	0	32	1	30	30.0	0	1/2 7	1	-	-
Douglas H	11/12	1	-	-	-	-	-	-	2	11	5.5	0	2/1 1	0	-	-
Draycott M	12/13	1	-	-	-	-	-	-	4	18	4.5	0	4/1 8	0	-	-
Ellen T	12/13	1	1	1	1.0	0	0	1	0	15	-	0	0/1 5	0	-	-
Foley T	12/13	1	0	1	0.0	0	0	0	-	-	-	-	-	0	-	-
Francis M	98/99	1	0	1	0.0	0	0	0	2	40	20.0	0	2/4 0	0	-	-
Funnell M	12/13	1	-	-	-	-	-	-	1	43	43.0	0	1/4 3	0	-	-
Gordon A	06/07	2	27	1	27.0	0	0	27	-	-	-	-	-	1	-	-
Greaves B	12/13	1	8	1	8.0	0	0	8	0	22	-	0	0/2 2	0	-	-
Hando D	09/10	3	84	1	84.0	1	0	54*	1	88	88.0	0	1/2 2	1	-	-
Hennessy D	08/09	1	26	1	26.0	0	0	26	0	26	-	0	0/2 6	0	-	-
Hesse P	12/13	1	2	1	2.0	0	0	2	0	11	-	0	0/1 1	0	-	-
Hoich R	82/83	1	6	0	-	0	0	6*	-	-	-	-	-	0	-	-
Hoy S	86/87	1	14	1	14.0	0	0	14	0	37	-	0	0/3 7	0	-	-
Huff P	12/13	3	2	3	0.7	0	0	2	0	20	-	0	0/2 0	1	-	-
Jarvis M	12/13	1	9	1	9.0	0	0	9	2	44	22.0	0	2/4 4	0	-	-
Jayasinghe G	11/12	2	14	2	7.0	0	0	8	0	9	-	0	0/9	0	-	-
Jowett S	12/13	8	18 2	8	22.8	1	0	88	-	-	-	-	-	1	-	-
Kerr D	04/05	1	30	1	30.0	0	0	30	0	27	-	0	0/2 7	1	-	-
Krishnaimoort hy P	10/11	2	2	2	1.0	0	0	2	0	38	-	0	0/1 3	0	-	-
Krohn A	06/07	2	4	2	2.0	0	0	4	-	-	-	-	-	-	3	0
Krohn J	74/75	3	97	3	32.3	0	0	44	-	-	-	-	-	-	3	0
Lasscock G	12/13	1	23	1	23.0	0	0	23	1	3	3.0	0	1/3	1	-	-
Lindsay H	12/13	1	5	1	5.0	0	0	5	1	14	14.0	0	1/1 4	0	-	-
Lynch M	94/95	1	9	1	9.0	0	0	9	0	26	-	0	0/2 6	0	-	-
McDonald R	09/10	1	12	1	12.0	0	0	12	2	6	3.0	0	2/6	1	-	-
Molloy M	85/86	1	-	-	-	-	-	-	3	20	6/7	0	3/2 0	1	-	-
Moorhead T	10/11	7	18	2	9.0	0	0	12*	6	198	33.0	0	2/1 4	0	-	-

Player	From	Gm s	Rn s	Ou t	Avg	5 0	10 0	Hs	W k	Run s	Avg	5W I	BB	C(F )	C(W )	S t
Murray A	78/79	6	15 5	6	25.8	2	0	78	-	-	-	-	-	2	-	-
Nunan P	12/13	1	0	1	0.0	0	0	0	0	2	-	0	0/2	0	-	-
O'Connell D	96/97	1	37	1	37.0	0	0	37	0	66	-	0	0/6 6	0	-	-
O'Connell J	02/03	13	28 0	11	25.5	1	0	75	2	149	74.5	0	1/8	6	5	0
O'Connell M	99/00	1	12	1	12.0	0	0	12	1	35	35.0	0	1/3 5	0	-	-
O'Leary P	12/13	1	9	1	9.0	0	0	9	0	21	-	0	0/2 1	0	-	-
Price D	12/13	2	2	1	2.0	0	0	2	0	28	-	0	0/2 8	1	-	-
Pumpa B	12/13	3	46	2	23.0	0	0	37	1	70	70.0	0	1/3 5	1	-	-
Richards C	09/10	4	78	4	19.5	1	0	51	1	114	114. 0	0	1/1 9	4	-	-
Rowe S	98/99	5	16 5	4	41.3	0	1	105 *	-	-	-	-	-	1	-	-
Sandilands T	98/99	1	18	1	18.0	0	0	18	1	14	14.0	0	1/1 4	0	-	-
Sargeant T	11/12	2	4	2	2.0	0	0	4	0	11	-	0	0/1 1	1	-	-
Shallue M	09/10	1	9	1	9.0	0	0	9	3	7	2.3	0	3/7	0	-	-
Sharpe T	05/06	3	76	2	38.0	1	0	62*	0	6	-	0	0/6	0	1	0
Sireakowski L	09/10	4	24	2	12.0	0	0	24*	4	108	27.0	0	2/4 3	1	1	0
Smith Adam	12/13	4	81	2	40.5	1	0	57	3	108	36.0	0	2/1 7	1	-	-
Smith M	12/13	1	-	-	-	-	-	-	1	59	59.0	0	1/5 9	0	-	-
Terrill J	06/07	9	12 8	8	15.4	0	0	37	7	238	38.3	0	4/2 8	1	-	-
Thomas M	09/10	1	4	1	4.0	0	0	4	1	38	38.0	0	1/3 8	0	-	-
Wigg C	(11/1 2)	4	17 5	3	58.3	0	1	106 *	0	13	-	0	0/1 3	0	-	-
Wigg X	10/11	3	23	2	11.5	0	0	15	1	48	48.0	0	1/3 6	2	1	0
Williams M	03/04	1	2	0	-	0	0	2*	0	24	-	0	0/2 4	2	-	-
Williamson R	12/13	1	3	1	3.0	0	0	3	4	35	8.7	0	4/3 5	0	-	-
Wood T	08/09	1	15	1	15.0	0	0	15	3	18	6.0	0	3/1 8	0	-	-
Zennaro P	88/89	1	21	1	21.0	0	0	21	-	-	-	-	-	1	-	-

Name	G	R	SR	Av	HS	30	50s	W	ER	A	3	5	В	CF	С	S	AR	U
Bach Tom	5	53	112.8	17.7	35	1	0	9	7.55	3	0	0	1/	1	-	-	4	1
Banks-Smith	5	45	83.3	15.0	25	0	0	-	-	-	-	-	-	3	-	-	0	0
Brebner-	1	-	-	-	-	-	-	-	-	-	-	-	-	1	-	-	0	0
Casha T	4	33	84.6	16.5	21*	0	0	-	-	-	-	-	-	0	-	-	0	0
Colman L	5	20	200.0	10.0	16	0	0	2	5.29	4	0	0	1/	2	-	-	2	0
Coyle B	4	0	-	0.0	0	0	0	6	4.88	1	0	0	2/	1	-	-	1	1
D'Addazio A	5	4	22.2	2.0	2	0	0	3	8.07	3	0	0	2/	0	-	-	2	-
D'Astoli L	5	15	50.0	5.0	5	0	0	1	5.57	1	1	0	4/	4	-	-	2	2
Fairbrother S	3	12	145.5	42.7	75	2	1	5	5.67	1	1	0	3/	2	-	-	1	0
Flint R	3	13	76.5	4.3	7	0	0	1	6.5	1	0	0	1/	1	-	-	1	0
O'Connell D	5	69	176.9	16.8	35	1	0	-	-	-	-	-	-	1	-	-	0	0
O'Connell M	3	12	80.0	-	12*	0	0	-	-	-	-	-	-	0	-	-	0	0
O'Connell S	5	95	94.1	31.7	52	2	1	-	-	-	-	-	-	-	3	1	2	0
Thomas M	2	-	-	-	-	-	-	3	7.75	1	1	0	3/	1	-	-	1	1
Williams M	1	1	100.0	-	1*	0	0	-	-	-	-	-	-	0	-	-	0	0

## **T20 Season Statistics**

## **Career Aggregate T20 Statistics**

Name	Gm	R	SR	Av	HS	30	50	W	ER	Av	3WI	5WI	BB	С	С	S	AR	UR
	S					S	S				S	S		F	W	t	0	0
Bach Tom	24	38	104.	18.	82	4	2	2	7.6	34.	0	0	1/1	1	-	-	6	1
		8	3	5						0			6	0				
Banks-	16	12	96.9	14.	25	0	0	1	5.6	17.	0	0	1/1	6	-	-	0	0
Smith B		6		0					7	0			2					
Brebner-	2	18	112.	-	18	0	0	-	-	-	-	-	-	2	-	-	0	0
Griffin A			5		*													
Casha T	6	42	73.7	10.	21	0	0	0	15.	-	0	0	0/1	0	-	-	0	0
				5	*				0				5					
Colman L	14	49	196.	16.	17	0	0	1	6.2	24.	2	0	3/7	3	-	-	3	-
			0	3				2	8	2								
Coyle B	12	33	68.7	5.5	17	0	0	1	5.8	17.	1	0	4/1	6	-	-	2	2
								3	2	9			8					
D'Addazi	15	19	61.3	9.5	12	0	0	1	5.5	20.	1	0	3/1	3	-	-	3	0
о А					*			5	9	1			4					
D'Astoli L	23	26	91.3	14.	56	3	0	3	5.7	13.	4	0	4/1	1	-	-	7	4
		2		6				8	5	1			4	3				
Fairbroth	21	37	121.	20.	75	6	2	3	5.7	12.	5	0	4/1	8	-	-	5	0
er S		3	5	7				3	2	5			1					
Flint R	20	10	70.8	6.8	29	0	0	1	6.0	24.	0	0	1/1	1	-	-	2	2
		9								0			3	2				
O'Connell	20	38	130.	22.	59	5	2	-	-	-	-	-	-	3	-	-	2	0
D		7	7	8	*													
O'Connell	7	15	78.9	-	12	0	0	1	7.6	23.	0	0	1/5	1	-	-	0	0

М					*				7	0								
O'Connell	24	47	111.	23.	66	6	3	-	-	-	-	-	-	-	19	6	12	2
S		7	2	9														
Thomas	3	0	-	-	0*	0	0	4	5.4	10.	1	0	3/1	1	-	-	1	1
Μ									3	5			9					
Williams	3	1	100.	1.0	1*	0	0	-	-	-	-	-	-	0	-	-	0	0
М			0															

Name/ Games/ Runs/ SR/ Ave/ HS/ 30s/ 50s/ Wkts/ ER/ Ave/ BB/ 3WI/ 5WI/ C(F)/ C(W)/ St/ ARO/ URO

#### Team Records 2012/13: First XI

Wkt	Partners		Runs	Opposition
1	Ben Banks-Smith & Tom Bach		79	Wyclif
2	Tom Bach & Sam Fairbrother		133	АҮС
3	Tom Bach & Steve O'Connell		146	Edinburgh
4	Sam Fairbrother & Steve O'Cor	nell	125	Edinburgh
5	Sam Fairbrother & Russ Flint		53	Trinity Willison
6	Sam Fairbrother & Tom Casha		191	Clifton Hill
7	Russ Flint & Tom Casha		38	Wyclif
	Ben Banks-Smith & Lawrence	Colman		АҮС
8	Luke D'Astoli & Lawrence Coln	nan	50	East Ivanhoe
9	Luke D'Astoli & David Spithill		13	Edinburgh
10	Luke D'Astoli & Adam D'Addaz	io	17	Deepdene Uniting
Team's	highest score	9/365		Edinburgh
Team's	lowest score	6/137 (cc)		Deepdene Uniting
Highest	score against	8/345		Edinburgh
Lowest	score against	80		АҮС
Highest	individual score	S O'Connell		125 vs Edinburgh
Highest	aggregate	S Fairbrother		623
Best boy	wling performance	L D'Astoli		5/36 vs Edinburgh
Most wi	ckets in season	L D'Astoli		38
Most ca	tches in season (fielder)	R Flint		9
Most ca	tches in season (keeper)	S O'Connell		18
Most stu	impings in season	S O'Connell		1

## Team Records: First XI

Wkt	Partners		Runs		Opposition		Season
1	R MacDowall & R Moore		170		Mulgrave		1997/98
2	K Burt & P Liddy		219		AYC		1970/71
3	G Wignell & P Sandilands		280		Glen Iris		1975/76
4	B Finnigan & M Robertson		213		Canterbury		1976/77
5	J Martin & W Pendry		194		Doncaster		1973/74
6	W Pendry & J Sullivan		224		Glen Iris		1974/75
7	G Wignell & B Finnigan		135		Ashwood		1980/81
8	M Duggan & E Fitzwilliam		113		South Camberw	ell	1987/88
	B Docherty & A Michaelides	6	113		Box Hill South		1990/91
9	D Harrison & G Burt		120		Wattle Park		1971/72
10	A Nicholson & D Spithill		82		B'wood Utg C'bı	ıry	2002/2003
Team'	a's highest score 5/503			Kooyong		199	8/99
Team'	<b>Team's lowest score</b> 34			Park Orch	ards	196	9/70
Highes	Highest score against			AYC		198	0/81

Lowest score against	33	Wattle Park	1967/68
Highest individual score	228	Mark Robertson	1976/77
Highest aggregate	723	Chris Hoare	1985/86
Best bowling performance	10/52	John Aspinall	1973/74
Most wickets in a season	68	Michael Learmonth	1989/90
Most catches in a season	37	Kevin Burt	1968/69
Most stumpings in a season	18	Kevin Burt	1972/73

## Team Records 2012/13: Second XI

Wkt	Partners		Runs	Opposition
1	Michael O'Connell & Liam Siera	akowski	102	Trinity Willison
2	Brad Craine & Matthew Williar	ns	133	Trinity Willison
3	Matthew Williams & Matthew	Гhomas	70	Knox Churches
4	Mark Shallue & Simon Hearn		102	Mazenod OC
5	Luke D'Astoli & Tom Sandiland	ls	73	Trinity Willison
6	Peter Morrison & Fabian D'Ado	lazio	47	Manningham
7	Michael O'Connell & Angus Har	nilton	74	Knox Churches
8	Matthew Thomas & Matthew D	oran	48	Burwood Uniting Canterbury
9	Matthew Thomas & Rohan Wo	rthy	77	Burwood Uniting Canterbury
10	Liam Sierakowski & Tim Wood		20	Trinity Willison
Team'	s highest score	296		Knox Churches
Team'	s lowest score	8/136 (cc)		Knox Churches
Highes	st score against	5/331 (dec)		Edinburgh
Lowes	t score against	85		Knox Churches
Highes	st individual score	M Thomas		103 vs Burwood Uniting Canterbury
Highes	st aggregate	M Williams		315 @ 26.3
Best b	owling performance	B Coyle		5/55 vs Trinity Willison
Most v	vickets in season	M Doran		22@21.3
Most c	atches in season (fielder)	T Wood		6
Most c	atches in season (keeper)	D Sharpe		6
Most s	tumpings in season	J Krohn		3

### Team Records: Second XI

Wkt	Partners	Runs	Opposition	Season
1	S McCulloch & A Nicholson	265	North Balwyn	1999/2000
2	B Finnigan & R Lagreca	209	Mulgrave	1984/85
3	Julian di Stefano & S Hoy	218	Preshil	2007/08
4	P Docherty & K Lynch	179	Ashwood	1981/82
5	P Sandilands & M Griffiths	131	Deepdene	1985/86
	D Balthazaar & J Leahy	131	West Hawthorn	1973/74
6	Tom Bach & M Molloy	190	B'wood Utg Canterbury	2003/04
7	F D'Addazio & B Craine	141	Preshil	2008/09
8	M Crossin & P Wignell	126	Box Hill South	1979/80
9	K Lynch & A Deith	134	Burwood	1984/85
10	P Docherty & D Stoney	146*	R'dale-B'dara	1997/98

Team's highest score	7/463	East Doncaster	1979/80
Team's lowest score	37	Box Hill South	1987/88
Highest score against	588	St Kevins	1975/76
Lowest score against	14	North Balwyn	1972/73
Highest individual score	250*	Basil Finnigan	1979/80
Highest aggregate	568	Richard Corbett	1999/2000
Best bowling performance	9/18	Paul Aspinall	1972/73
Most wickets in a season	51	Stephen Hoy	2001/02
Most catches in a season	32	Julian di Stefano	2001/02
Most stumpings in a season	6	John Krohn	1986/87
	6	Patrick Spithill	1980/81
	6	Doug Baguley	1972/73

## Team Records 2012/13: Third XI

Wkt	Partners		Runs	Opposition
1	A Burt & P Lynch		121	Burwood Uniting Canterbury
2	G Jayasinghe & T Sharpe		105	East Doncaster
3	A King & C Giannakopoulos		57	Mazenod OC
4	P Lynch & D Jayasuriya		183	Mazenod OC
5	P Morrison & D Jayasuriya		68	Heathmont
6	S Jayasuriya & D Jayasuriya		107	Heathmont
7	A Burt & A Krohn		133	Ashwood
8	H Douglas & L Sierakowski		147	East Doncaster
9	A Krohn & M Francis		54	Ashwood
10	B Pumpa & J O'Connell		46	Mazenod OC
Team's hi	ghest score	9/432	(cc)	East Doncaster
Team's lo	west score	8/167	(cc)	East Doncaster
Highest se	core against	238		East Doncaster
Lowest sc	ore against	85		North Balwyn Combined
Highest in	ndividual score	P Lync	ch	118* vs Burwood Uniting Canterbury
				118* vs Mazenod OC
Highest a	ggregate	A Burt	-	467 @ 33.4
Best bowl	Best bowling performance P Mor		rison	5/34 vs Ashwood
Most wickets in season M Fran		ncis	17 @ 24.2	
Most catc	hes in season (fielder)	D Han	do, T Sandilands	9
Most catc	hes in season (keeper)	J Kroh	n	19
Most stun	npings in season	J Kroh	n	1

## Team Records: Third XI

Wkt	Partners		Runs		Opposition		Season	
1	B Finnigan & R McGregor	178			Adult Deaf		1978/79	
2	M Sheehan & N Hodgson		259		Mazenod OC		2002/03	
3	J Krohn & L Fisicaro		241		S A Waverley		2001/02	
4	N Hodgson & P Lynch		244*		Mazenod O C		2001/02	
5	G Walker & A Murray		201		Bulleen		1984/85	
6	A Purcell & D Kerr		138		Glen Iris		2007/08	
7	A Tracey & G Chard		134		West Hawthorn		1998/99	
8	S Joyce & D Burt		147		Nth Balwyn		1996/97	
8	H Douglas & L Sierakowski	147			East Doncaster		2012/13	
9	A Classon & M Funnell		98		S A Waverley		2002/03	
10	K Lynch & J Murray		103		Glen Iris		1985/86	
Team's h	ighest score	9/47	479 Kooyong			1992	2/93	
	owest score	47			1976		, 6/77	
Highest s	core against	4/43	31 Mulgrave			1977	7/78	
Lowest so	core against	14	Burnley			1977/78		
Highest i	ndividual score	189	Tim Allen			198	6/87	
Highest a	ggregate	770		Basil Finnigan		1978	1978/79	
Best bow	ling performance	8/25		Kevin Lynch		1983	1/82	
Most wickets in a season 69		Basil Finn		igan	1978	8/79		
Most catches in a season 2		21 Doug B		Doug Bagı	Doug Baguley 1		974/75	
		21 Tim A		Tim Allen		1993	993/94	
Most stur	npings in a season	5 Mick		Mick Drev	J	1983	3/84	

## Team Records 2012/13: Fourth XI

Wkt	Partners	Runs	Opposition
1	S Rowe & D Vardy	180	Edinburgh
2	F D'Addazio & H Douglas	133	Deepdene Uniting
3	F D'Addazio & P Morrison	75	Deepdene Uniting
4	H Douglas & D Burt	65	Edinburgh
5	C Wigg & X Wigg	126	Burnley CYMS
6	C Wigg & D Burt	77	Deepdene Uniting
7	G Douglas & A Baddam	66	Wyclif
8	A Baddam & H Douglas	51	Wyclif
9	C Nunan & J Henderson	33	Burnley CYMS
10	H Douglas & J Parker	42	Wyclif

Team's highest score	6/416 (dec)	Deepdene Uniting
Team's lowest score	115	Burnley CYMS
Highest score against	9/305 (cc)	Edinburgh
Lowest score against	158	Deepdene Uniting;
		East Ivanhoe Saints
Highest individual score	F D'Addazio	134
Highest aggregate	H Douglas	291@32.2
Best bowling performance	T Ellen	6/72
Most wickets in season	T Ellen	14 @ 14.1
Most catches in season (fielder)	S Rowe, D Vardy	6
Most catches in season (keeper)	J Henderson	16
Most stumpings in season	J Henderson	2

## Team Records: Fourth XI

Wkt	Partners	Runs	Opposition	Season
1	B Craine & A Dhandapani	224*	Deepdene Uniting	2010/11
2	J Krohn & A Hamilton	179	St Barnabas	2007/08
3	M Pivetta & P Docherty	265	Burwood	1999/2000
4	R Singh & P Zennaro	153	Northern Maccabi	1995/96
5	D O'Connell & K Burt	216	Canterbury	1998/99
6	J Krohn & Andrew Smith	120	North Balwyn	1984/85
7	P Zennaro & M Francis	137*	Ashburton Willows	2007/08
8	G Walker & D Zennaro	107	Donvale	1984/85
9	K Lynch & B Banks-Smith	86	Burwood Uniting	1999/2000
10	T Sandilands & Tom Bach	110	Mulgrave	1998/99

Team's highest score	433	Marcellin OC	2005/06
	6/433 dec	Ashburton Willows	2007/08
Team's lowest score	29	Burnley CYMS	1985/86
Highest score against	6/476	Heathmont	1991/92
Lowest score against	32	Nth East Jewish	1983/84
Highest individual score	203	John Krohn	1984/85
Highest aggregate	723	John Krohn	1984/85
Best bowling performance	9/48	Chris Wood	1991/92
Most wickets in a season	41	Chris Wood	1991/92
Most catches in a season	16	John Krohn	1984/85
		James Henderson	2012/13
Most stumpings in a season	9	John Krohn	1984/85

## Team Records 2012/13: Fifth (One-Day) XI

Wkt	Partners	Runs	Opposition
1	N.A.	N.A.	N.A.
2	N.A.	N.A.	N.A.
3	N.A.	N.A.	N.A.
4	N.A.	N.A.	N.A.
5	N.A.	N.A.	N.A.
6	N.A.	N.A.	N.A.
7	N.A.	N.A.	N.A.
8	N.A.	N.A.	N.A.
9	N.A.	N.A.	N.A.
10	N.A.	N.A.	N.A.

Team's highest score	7/242 cc	Richmond Union
Team's lowest score	69	Knox Churches
Highest score against	4/309	Trinity Willison
Lowest score against	74	Ashburton Willows
Highest individual score	C Wigg	106* vs Richmond Union
Highest aggregate	J O'Connell	280@25.5
Best bowling performance	M Draycott	4/18 vs Wyclif
Most wickets in season	J Terrill	7@38.3
Most catches in season (fielder)	J O'Connell	6
Most catches in season (keeper)	J O'Connell	5

## Team Records: Fifth (One-Day) XI

Wkt	Partners		Runs	Opposition	Season
1	N Fennessy & N Hodgson		228*	Melbourne Deaf	2006/07
2	N Hodgson & S Ross		184	Melbourne Deaf	2006/07
3	B Docherty & R McDowall		138	East Malvern RSL	2006/07
4	P Fisicaro & R McDowall		233*	Glen Iris	2007/08
5	R McDowall & J O'Connell		173	St Kevins OC	2008/09
6	B Pandya & C Dunne		106	Burwood	2008/09
7	D Spithill & C Fraser		96*	Manningham	2009/10
8	P Mercoulia & M Pivetta		144*	St Barnabas	2002/03
9	S Ross & B David		67	Abbotsford Anglers	2010/11
10	T Beaton & M Francis		82*	East Malvern RSL	2008/09
Team's	s highest score	5/33	3	Abbotsford Anglers	2005/06
Team's	lowest score	37		Heathmont	1999/00
Highes	t score against	373		Abbotsford Anglers	2005/06
Lowest	score against	49		St Stephens Greythorn	2010/11
Highes	t individual score	156*	:	P Fisicaro vs Glen Iris	2007/08
Highes	t aggregate	855		N Hodgson	2006/07
Best bo	wling performance	6/14		E Behan vs Ashburton	2005/06
Most w	t wickets in a season 27		N Hodgson	2006/07	
Most ca	atches in a season	16		B Mannix	2003/04
Most st	cumpings in a season	3		P Mercoulia	2002/03
				B Mitchell	2005/06

## Team Records: Sixth (One-Day) XI

Wkt	Partners	Runs	Opposition	Season
1	S Camilleri & P Mercoulia	332*	Ashburton	2004/05
2	R Zambelli & E Fitzwilliam	242*	North Balwyn	2006/07
3	N Hodgson & A Teelow	174	East Malvern RSL	2005/06
4	N Hodgson & S Ross	150*	St Kevins OC	2005/06
5	S Bailey & A Dawkins	155	Abbotsford Anglers	2002/03
6	G Stewart & T Cameron	93	Manningham	2008/09
7	S Hoy & M Sexton	92*	Clifton Hill	2009/10
8	R Smith & A Webb	71*	Clifton Hill	2010/11
9	R Kimber & D Hubbard	67	Burwood	2005/06
10	N Maskiell & T Michaelides	43	Abbotsford Anglers	2003/04
10	M McGrath & T Bach	43*	Abbotsford Anglers	2004/05

Team's highest score	7/382	South Camberwell	2006/07
Team's lowest score	81	Manningham	2008/09
Highest score against	333	South Camberwell	2006/07
Lowest score against	33	Donvale	2006/07
Highest individual score	206*	S Camilleri v Ashburton	2004/05
Highest aggregate	738	J Murray	2009/10
Best bowling performance	6/15	S Hoy v Hartwell	2009/10
Most wickets in a season	38	S Bailey	2002/03
Most catches in a season	15	E Fitzwilliam	2006/07
Most stumpings in a season	4	E Fitzwilliam	2006/07
		G Smith	2010/11

## 2012/13

#### **Club's Top Ten Performers**

Most runs scored	]	Most wickets taken	Мо	ost games played	
Player	Runs	Player	Wkts	Player	Games
John Krohn	11,204	Basil Finnigan	424	John Krohn	488
Bernard Docherty	8,919	Greg Wignell	414	Kevin Burt	360
Kevin Burt	8,811	Luke D'Astoli	402	Bernard Docherty	339
Rohan McDowall	7,293	Leigh Jondahl	376	Eugene Fitzwilliam	316
Steve O'Connell	6,473	Michael Mitchell	326	Kevin Lynch	310
Andrew Murray	6,184	Kevin Lynch	313	Andrew Murray	304
Kevin Lynch	6,042	Richard Corbett	294	Peter Lynch	287
Patrick Docherty	5,957	Eugene Fitzwilliam	284	Patrick Docherty	275
Alan Yarwood	5,892	Bernard Docherty	280	Justin Murray	265
Peter Lynch	5,561	Mark Molloy	279	Mark Molloy	254

#### Most catches (non-keepers) Top wicket-keepers

Player	Catches	Player	Catches	Stpgs	Dismissals
Eugene Fitzwilliam	211	Kevin Burt	387	210	597
Bernard Docherty	176	John Krohn	313	70	383
Andrew Murray	119	Steve O'Connell	267	39	306
Peter Lynch	115	Julian di Stefano	275	19	292
Michael Wignell	113	Tim Allen	171	24	195
Justin Murray	106	Gary Chard	144	29	173
Stuart McCulloch	103	Michael Drew	100	21	121
Patrick Docherty	102	Doug Baguley	80	19	99
Peter Sandilands	101	Ben Banks-Smith	80	8	88
Kevin Lynch	96	Tim Sharpe	68	3	71

#### Most scores of 50 or more Most centuries

Highest scores Rohan McDowall 17 Rohan McDowall 250\* 56 Basil Finnigan 56 **Bernard Docherty** 13 John Krohn 228 Mark Robertson 55 223 Kevin Burt 11 Alan Yarwood Greg Wignell 54 9 223 John Krohn Greg Wignell **Ross Moore** 51 Steve O'Connell 9 206\* Steve Camilleri Basil Finnigan 35 Julian di Stefano 9 **Bernard Docherty** 203 John Krohn 33 Alan Yarwood 9 Steve O'Connell 190 Tom Bach 33 Greg Wignell 8 Stephen Ross 189 Tim Allen 31 Andrew Murray 7 Chris Hoare 188\* David Field 30 Stephen Ross 6 Michael Cain 183 Andrew Classon 6 Neil Hodgson 6 Julian di Stefano 6 Peter Lynch

<u>Most ti</u>	mes 5 wickets in an innings	Best bowling fig	<u>ures (one innings)</u>
29	Greg Wignell	10/52	John Aspinall
20	Basil Finnigan	9/18	Paul Aspinall
19	Leigh Jondahl	9/25	Greg Wignell
17	Michael Mitchell	9/48	Chris Wood
14	Kevin Lynch	9/82	Justin Hoy
14	Patrick Wignell	8/3	Peter Sandilands
13	John Aspinall	8/25	Kevin Lynch
13	Luke D'Astoli	8/27	Eugene Fitzwilliam
12	Phil Featherston	8/40	Nick Oddy
11	Geoff Walker	8/41	Eugene Fitzwilliam

## <u>Club's Top Ten Performers (cont.)</u>

Most runs scored			Mos	<u>t wickets taken</u>			
Player	Gms	Runs	Ave	Player	Gms	Wkts	Ave
Sam Fairbrother	14	623	51.9	Luke D'Astoli	15	39	16.9
Adam Burt	14	467	33.4	Rohan Worthy	15	29	16.7
Steve O'Connell	14	426	30.4	Adam D'Addazio	13	26	22.5
Chris Wigg	12	418	53.6	Dinuka Jayasuriya	10	24	19.0
Stirling Rowe	12	414	37.6	Peter Morrison	13	23	11.0
Dinuka Jayasuriya	10	410	58.6	Lawrence Colman	13	20	19.8
Peter Lynch	14	405	31.2	Matthew Francis	13	19	23.8
Harry Douglas	11	370	37.0	David Spithill	9	18	13.5
Tom Bach	11	358	35.8	Beau Coyle	12	17	19.5
Peter Morrison	13	347	38.6	Sam Fairbrother	14	17	23.1

<u>Most catches (non-keepers)</u>	W	<u>icket-keepers</u>
Dlamar	Cha	Diaman

Player	Cts	Player	Cts	Stpgs	Dis
Dom Hando	12	Jack Krohn	25	4	29
Tom Sandilands	11	Steve O'Connell	18	1	19
Russ Flint	9	James Henderson	16	2	18
Peter Lynch	9	Tim Sharpe	8	0	8
Rohan Worthy	9	Xavier Wigg	6	1	7
Tom Bach, Stirlo,	8	Joseph O'Connell	7	0	7
Beau Coyle	8	Dan Sharpe	6	0	6
Stirling Rowe	8	Ben Banks-Smith	5	0	5
Ben Banks-Smith	7	Luke Javernik	5	0	5
Adam Burt	7	Andrew Krohn	3	0	3
Luke D'Astoli	7	Chris Wigg	3	0	3
Dinuka jayasuriya	7				

## **Basil Finnigan Medal Winners**

Season	Player	Votes
1985/86	Geoff Walker	20
1986/87	Pat Wignell	17
1987/88	Greg Wignell	24
1988/89	Bernard Docherty	13
"	Eugene Fitzwilliam	13
"	Greg Wignell	13
1989/90	Michael Learmonth	22
1990/91	Geoff Walker	15
1991/92	Geoff Walker	18
1992/93	Peter Williams	12
1993/94	James Hall	14
"	Chris Hoare	14
1994/95	Chris Wood	14
1995/96	Bernard Docherty	15
1996/97	Peter Warcaba	18
1997/98	Rohan McDowall	14
"	Daniel Burt	14
1998/99	Matthew Thackwray	15
1999/00	Michael Pivetta	16
2000/01	Luke d'Astoli	17
2001/02	Stephen Hoy	13
"	Michael Pivetta	13
2002/03	Stephen Hoy	13
	Jack Krohn	13
2003/04	Luke d'Astoli	13
2004/05	Michael Mitchell	
2005/06	Daniel Smith	
2006/07	Neil Hodgson	
2007/08	Luke D'Astoli	13
2008/09	Alex Ross	
2009/10	Peter Morrison	
2010/11	Steve O'Connell	
2011/12	Steve O'Connell, Peter Lynch, Justin Murray	13
2012/13	Sam Fairbrother	16
ı	L	

#### All Players Season 2012/13 Aggregate Statistics

Player	From	Gm	Rns	Out	Avg	5	10	Hs	Wk	Runs	Avg	5WI	BB	C(F	C(W)	St
		s	_				·				-		0./4	)	_	
Bach S	00/01	3	17	1	17. 0	0	0	11	0	28	-	0	0/1 3	2	2	0
Bach Tim	98/99	1	0	1	0.0	0	0	0	-	-	-	-	-	0	-	-
Bach Tom	98/99	11	358	10	35.	2	1	104	0	0	-	0	0/0	8	-	-
Baddam A	11/12	3	76	3	25. 3	1	0	75	1	53	53.0	0	1/3 0	0	-	-
Banks-Smith B	98/99	13	300	11	27. 3	1	1	101 *	0	4	-	0	0/4	7	5	0
Barnett S	11/12	1	5	1	5.0	0	0	5	-	-	-	-	-	0	-	-
Beaton P	12/13	1	1	1	1.0	0	0	1	1	26	26.0	0	1/2 6	0	-	-
Beaton R	12/13	1	14	1	14. 0	0	0	14	-	-	-	-	-	0	-	-
Behan E	99/00	2	2	0	-	0	0	2*	3	98	32.7	0	2/5 8	1	-	-
Bird J	12/13	2	13	2	6.5	0	0	13	4	35	8.7	0	4/3 5	1	-	-
Brebner-Griffin A	09/10	6	190	4	47. 5	2	0	58*	1	6	6.0	0	1/6	2	-	-
Briggs J	12/13	5	22	4	5.5	0	0	16	2	167	83.5	0	1/3 4	0	-	-
Briggs R	12/13	6	37	6	6.2	0	0	22	2	94	47.0	0	2/2 1	4	-	-
Briggs T	12/13	3	15	2	7.5	0	0	13*	0	23	-	0	0/8	0	-	-
Burt A	94/95	14	467	14	33. 4	5	0	88	2	41	20.5	0	1/8	7	-	-
Burt D	92/93	14	326	10	32. 6	1	1	124	15	534	35.6	0	3/6 0	5	-	-
Campbell A	12/13	1	20	1	20. 0	0	0	20	1	23	23.0	0	1/2 3	1	-	-
Carolan L	12/13	5	18	4	4.5	0	0	9	0	13	-	0	0/1 3	0	-	-
Casha T	03/04	15	281	10	28. 1	0	1	115	9	365	40.6	0	3/3 3	5	-	-
Chalker H	12/13	5	48	4	12.	0	0	22	2	107	53.5	0	1/2	0	-	-
Classon C	99/00	1	13	1	13.	0	0	13	0	23	-	0	0/2	0	-	-
Colman L	02/03	13	73	6	12.	0	0	37	20	396	19.8	0	4/1	5	-	-
Cooper T	12/13	1	0	0	-	0	0	0*	0	18	-	0	0/1	0	-	-
Corbett R	90/91	1	8	1	8.0	0	0	8	0	39	-	0	0/3	0	-	-
Coyle B	03/04	12	171	10	17.	0	0	43*	17	331	19.5	1	5/5 5	8	-	-
Craine B	02/03	10	219	10	21.	1	0	73	4	84	21.0	0	2/3	1	-	-
Cudlipp B	12/13	1	7	0	-	0	0	7*	0	23	-	0	0/2 3	0	-	-
Curry A	91/92	7	73	7	10. 4	0	0	29	-	-	-	-	-	0	-	-
D'Addazio A	04/05	13	10	2	5.0	0	0	5*	26	586	22.5	0	4/4 4	6	-	-
D'Addazio F	07/08	13	296	11	26.	0	1	134	4	182	45.5	0	2/3	6	-	-
	96/97	15	191	4	9 47.	1	0	67	39	658	16.9	2	0 5/3	7	-	-

Player	From	Gm	Rns	Out	Avg	5	10	Hs	Wk	Runs	Avg	5WI	BB	C(F	C(W)	St
David B	07/08	<b>s</b> 10	101	5	20. 2	0	0	28	12	235	19.6	0	3/3	5	-	-
Dhandapani A	10/11	4	20	2	10. 0	0	0	12*	1	76	76.0	0	1/4	1	-	-
Docherty B	78/79	2	114	1	114. 0	1	0	90*	1	38	38.0	0	1/3 8	0	-	-
Donahoe T	12/13	1	-	-	-	-	-	-	-	-	-	-	-	1	-	-
Doran M	09/10	12	41	5	8.2	0	0	17						4	-	-
Douglas G	12/13	13	90	11	8.2	0	0	32	3	81	27.0	0	2/1 6	4	-	-
Douglas H	11/12	11	370	10	37. 0	4	0	79	14	436	31.1	0	4/4 1	2	-	-
Doyle D	07/08	1	-	-	-	-	-	-	3	49	16.3	0	3/4	0	-	-
Draycott M	12/13	1	-	-	-	-	-	-	4	18	4.5	0	4/1 8	0	-	-
Ellen T	12/13	7	21	4	5.3	0	0	15	14	213	15.2	1	6/7	2	-	-
Fairbrother S	09/10	14	623	12	51. 9	3	2	123	17	393	23.1	1	2 5/5 8	6	-	-
Flint R	06/07	12	139	6	23.	0	0	34	8	219	27.4	0	2/1	9	-	-
Foley T	12/13	1	0	1	0.0	0	0	0	-	-	-	-	-	0	-	-
Francis M	98/99	13	56	4	14.	0	0	30	19	452	23.8	0	3/5 2	4	-	-
Funnell M	12/13	1	-	-	-	-	-	-	1	43	43.0	0	1/4	0	-	-
Giannakopoulos	08/09	12	217	10	21.	1	0	79	1	32	32.0	0	3 1/9	2	-	-
Gordon A	06/07	2	27	1	27.	0	0	27	-	-	-	-	-	1	-	-
Greaves B	12/13	1	8	1	8.0	0	0	8	0	22	-	0	0/2	0	-	-
Hamilton A	06/07	3	90	4	22.	0	0	47	5	119	23.8	0	3/6	0	-	-
Hando D	09/10	14	205	7	29.	2	0	54*	13	357	27.5	0	4/2	12	-	-
Hearn S	06/07	6	92	6	15.	1	0	51	6	160	26.7	0	3/3	1	-	-
Henderson J	03/04	10	34	7	6.8	0	0	12*	10	103	10.3	0	4/2	1	16	2
Hennessy D	08/09	1	26	1	26.	0	0	26	0	26	-	0	0/2	0	-	-
Hesse P	12/13	1	2	1	2.0	0	0	2	0	11	-	0	6 0/1	0	-	-
Hoich R	82/83	1	6	0	-	0	0	6*	-	-	-	-	1 -	0	-	-
Hoy S	86/87	1	14	1	14.	0	0	14	0	37	-	0	0/3	0	-	-
Huff P	12/13	9	15	7	2.1	0	0	8	2	145	72.5	0	2/4	3	-	-
Jarvis M	12/13	5	43	4	10.	0	0	22	5	132	26.4	0	2/4	1	-	-
Javernik L	09/10	8	204	8	25.	1	0	66	-	-	-	-	-	1	5	0
Jayasinghe G	11/12	13	327	12	27.	2	0	70	0	36	-	0	0/7	2	-	-
Jayasuriya D	12/13	10	410	7	58.	3	1	100	24	456	19.0	0	4/3	7	-	-
Jayasuriya S	11/12	7	103	3	34.	0	0	36	3	79	26.3	0	9 2/3	2	-	-
Jowett S	05/06	11	311	11	28.	2	0	88	0	14	-	0	9 0/1	3	-	-
		11	511	11		4		00					4			

Kerr D     04/05     1     30     1     30.     0     0     30     0     27     0     0     7       King A     08/09     3     59     2     29.     0     0     33*     2     73     36.5     0     1/2     3       Krishnaimoorthy     10/11     2     2     1.0     0     0     2     0     38     -     0     0/1     0       Krishnaimoorthy     10/11     2     2     1.0     0     0     2     0     38     3     0     1/7     2       Krohn J     74/75     15     207     10     20.     0     0     44     -	C(W)	St
Image: Constraint of the system of	-	-
Krohn A     06/07     9     286     8     35.     2     0     86     3     56     180     0     1/7     2       Krohn J     74/75     15     207     10     20.     0     0     44     -     0     0     1/1     0     1/1     0     2     118     0     2     10     1     1/1     0     2     118     0     2     1     0     0     2/2     1     1     0     2     110     1     1/1     1     2     1	-	-
Krohn A     06/07     9     286     8     35.     2     0     86     3     56     180     0     1/7     2       Krohn J     74/75     15     207     10     20.     0     0     44     -     0     0     23     1     3.0     0     1/1     0     1/1     0     1/1     0     1/1     0     1/1     0     1/1     0     1/1     0     1/2     1     1/4     1/4     1/4     1/4     1/4     1/4     1/4     1/4     1/4     1/4     1/4     1/4     1/1     1/1     0     1	-	-
Lasscock G     12/13     1     23     1     23.     0     0     23.     1     3.     3.0     0     1/3     1       Lindsay H     12/13     1     5     1     5.0     0     0     5     1     14     14.0     0     1/1     0       Liwellyn S     12/13     1     44     1     44.0     0     0     29*     12     298     24.8     0     3/2     2       Lynch M     94/95     9     42     1     42.0     0     0     12     298     24.8     0     3/2     1       Lynch P     99/90     14     405     13     21.0     0     12     5     54     10.8     0     2/6     1       Molloy M     85/86     1     -     -     -     -     3     20     6/7     0     0     2/1     0       Morrison P     99/00     13     347     9     38.1	3	0
Lindsay H     12/13     1     5     1     5.0     0     0     4     1     1.4     1.40     0     1.1     0       Lindsay H     12/13     1     44     1     44.     0     0     44     -     -     -     -     0       Lynch M     94/95     9     42     1     42.     0     0     29*     12     298     24.8     0.     3/4     2       Lynch P     89/90     14     405     13     31.     0     2     118     0     26     -     0     0     2     118     0     26     -     0     0     2     118     0     26     1     0     2     11     0     2     11     0     2     11     0     12     5     5     1     1     0     13     3/2     1     0     12     5     1     1     0     12     1     1     0	25	4
Image: And and any angle and any	-	-
Lynch M     94/95     9     42     1     42.     0     0     29*     12     298     24.8     0     3/4     2       Lynch P     89/90     14     405     13.     21.     0.     0     12     5     54     10.8     0     2/2     1       McDonald R     09/10     4     12     2     6.0     0     0     12     5     54     10.8     0     2/2     1       McDonald R     09/10     4     12     2     6.0     0     0     12     5     54     10.8     0     2/2     1     1     0     2     1     1     0     2     1     1     0     1	-	-
Lynch P     89/90     14     405     13     21     0     2     18     0     26     7     0     6/2     9       McDonald R     09/10     4     12     2     6.0     0     12     5     54     1.08     0     2/6     1       Moloy M     85/86     1     .	-	-
Image: Series of the	-	-
McDonald R     09/10     4     12     2     6.0     0     0     12     5     54     10.8     0     2/6     1       Molloy M     85/86     1     .	-	-
Moorhead T     10/11     10     22     3     7.3     0     0     12*     9     333     37.0     0     2/1     0       Morrison P     99/00     13     347     9     38.     1     0     83     23     252     11.0     1     5/3     4       Murray A     78/79     6     155     6     25.     2     0     78     7.0 <t< td=""><td>-</td><td>-</td></t<>	-	-
Image: Marking the series of the s	-	-
Morrison P     99/00     13     347     9     38.     1     0     83     23     252     11.0     1     5/3     4       Murray A     78/79     6     155     6     25.     2     0     78     -     -     -     -     2     2     0     78     -     -     0     0     2     0     78     -     -     0     0     2     -     0     0     2     -     0     0     2     -     0     0     2     -     0     0     2     -     0     0/2     1     0     0     9     0     2     -     0     0/2     1     0     0     9     0     2     -     0     0/2     1     0	-	-
Nunan C     12/13     1     25     1     25.     0     0     25     0     5     -     0     0/5     0       Nunan C     12/13     2     9     2     4.5     0     0     9     0     2     -     0     0/5     1       O'Connell D     96/97     15     252     12     21.     1     0     59*     0     72     -     0     0/6     5       O'Connell J     02/03     14     329     11     29.     1     0     54*     1     119     11.9     0     1/3     4       O'Connell M     99/00     12     233     10     23.     1     0     54     1     119     11.9     0     1/3     4       O'Connell S     93/94     14     426     12     30.     3     1     125     0     8     -     0     0/2     1       O'Leary P     12/13     1	-	-
Nunan C     12/13     2     9     2     4.5     0     9     0     2     -     0     0/2     1       O'Connell D     96/97     15     252     12     21.     1     0     59*     0     72     -     0     0/6     5       O'Connell J     02/03     14     329     11     29.     1     0     59*     0     72     -     0     0/6     5       O'Connell M     99/00     12     233     10     23.     1     0     54     1     119     119.     0     1/3     4       O'Connell M     99/00     12     233     10     23.     1     0     54     1     119     119.     0     1/3     4       O'Connell M     99/00     12     233     10.     23.     1     12.     1     12.     1     12.     1     12.     1     1     1     1     1     1	-	-
Name   Point	-	-
O'Connell J   O2/O3   14   329   11   29.   1   0   75   2   149   74.5   0   1/8   6     O'Connell M   99/00   12   233   10   23.   1   0   54   1   119   19.   0.   1/3   4     O'Connell M   99/00   12   233   10   23.   1   0   54   1   119   19.   0.   1/3   4     O'Connell S   93/94   14   426   12   30.   3   1   125   0   8   -   0   0/8   2     O'Connell S   93/94   14   426   12   30.   3   1   125   0   8   -   0   0/8   2     O'Leary P   12/13   1   9   1   9.0   0   0   9   0   21   -   0   0/2   1     Panetta D   12/13   5   30   3   10.   0   0   9*   3   130   43.3   <	-	-
O'Connell M   99/00   12   233   10   23.   1   0   54   1   119   119.   0   1/3   4     O'Connell S   93/94   14   426   12   30.   3   1   125   0   8    0   0/2   1 </td <td>-</td> <td>-</td>	-	-
O'Connell S     93/94     14     426     12     30.     3     1     125     0     8     -     0     0/8     2       O'Leary P     12/13     1     9     1     9.0     0     9     0     21     -     0     0/8     2       O'Leary P     12/13     1     9     1     9.0     0     9     0     21     -     0     0/2     0       Panetta D     12/13     5     30     3     10.     0     0     30     1     26     26.0     0     1/1     2       Parker J     12/13     4     15     1     15.     0     0     9*     3     130     43.3     0     2/6     0     1	7	0
O'Leary P     12/13     1     9     1     9.0     0     9     0     21     -     0     0/2     1       Panetta D     12/13     5     30     3     10.     0     0     30     1     26     26.0     0     1/1     2       Panetta D     12/13     5     30     3     10.     0     0     30     1     26     26.0     0     1/1     2       Parker J     12/13     4     15     1     15.     0     0     9*     3     130     43.3     0     2/6     0       Price D     12/13     2     2     1     2.0     0     9*     3     130     43.3     0     2/6     0       Price D     12/13     2     2     1     2.0     0     2     0     28     -     0     0/2     1       Pumpa B     12/13     5     56     3     18.     0	2	0
Image: And the second secon	18	1
Panetta D   12/13   5   30   3   10.   0   0   30   1   26   26.0   0   1/1   2     Parker J   12/13   4   15   1   15.   0   0   9*   3   130   43.3   0   2/6   0   1     Price D   12/13   2   2   1   2.0   0   2   0   28   -   0   0/2   1     Pumpa B   12/13   5   56   3   18.   0   0   37   4   105   26.2   0   3/1   9     Ravindranath R   11/12   12   66   4   16.   0   0   39   12   278   23.2   1   5/3   5/3   5   5/3   5   5/3 </td <td>-</td> <td>-</td>	-	-
Parker J   12/13   4   15   1   15.   0   0   9*   3   130   43.3   0   2/6   0     Price D   12/13   2   2   1   2.0   0   0   2   0   28   -   0   0/2   1     Pumpa B   12/13   5   56   3   18.   0   0   37   4   105   26.2   0   3/1   3   9   3/1   3	-	-
Pumpa B   12/13   5   56   3   18.   0   0   37   4   105   26.2   0   3/1   9     Ravindranath R   11/12   12   66   4   16.   0   0   39   12   278   23.2   1   5/3   5/3   5	-	-
Pumpa B   12/13   5   56   3   18.   0   0   37   4   105   26.2   0   3/1   3     Ravindranath R   11/12   12   66   4   16.   0   0   39   12   278   23.2   1   5/3   5	-	-
	-	-
	-	-
Richards C     09/10     4     78     4     19.     1     0     51     1     114     114.     0     1/1     4	-	-
Rowe S     98/99     12     414     11     37.     2     1     105     -     -     -     -     8	-	-
Sandilands T 98/99 12 342 12 28. 3 0 69 2 57 28.5 0 1/1 11	-	-
Sargeant T     11/12     8     70     6     11.     0     0     29     5     136     27.2     0     3/3     2	-	-
Shallue M   09/10   4   89   3   29.   0   0   48   3   7   2.3   0   3/7   0	2	0

Player	From	Gm s	Rns	Out	Avg	5	10	Hs	Wk	Runs	Avg	5WI	BB	C(F )	C(W)	St
Sharpe D	03/04	9	141	9	15.	0	0	46	-	-	-	-	-	2	6	0
Sharpe T	05/06	8	163	6	27.	2	0	62*	0	6	-	0	0/6	0	8	0
Sierakowski L	09/10	11	276	10	27.	1	0	92	10	287	28.7	0	2/1	4	1	0
Siyanhuna O	12/13	2	3	1	3.0	0	0	3*	0	21	-	0	0/2	0	-	-
Smith Adam	12/13	4	81	2	40.	1	0	57	3	108	36.0	0	2/1	1	-	-
Smith M	12/13	3	13	1	13.	0	0	13	1	122	122.	0	1/5	0	-	-
Spithill D	97/98	9	164	5	34.	0	1	111	18	243	13.5	0	4/1	4	-	-
Taylor M	12/13	2	42	1	42.	0	0	28	4	60	15.0	0	3/2 4	1	-	-
Terrill J	06/07	14	199	12	0 16. 6	0	0	37	12	394	32.8	0	4 4/2 8	1	-	-
Thomas M	09/10	6	177	6	29.	1	0	103	12	168	14.0	0	4/3 3	1	-	-
Trivedi D	11/12	2	0	1	0.0	0	0	0	0	21	-	0	0/2	0	-	-
Vardy D	11/12	7	206	7	29. 4	1	0	78	0	93	-	0	0/3 3	6	0	0
Wigg C	(11/1 2)	12	418	8	- 53. 6	1	1	106 *	0	13	-	0	0/1 3	2	3	0
Wigg X	10/11	13	183	8	22.	1	0	61	7	221	31.6	0	2/2 7	6	6	1
Williams M	03/04	13	321	13	26. 8	2	0	73	0	24	-	0	0/2 4	6	-	-
Williamson R	12/13	1	3	1	3.0	0	0	3	4	35	8.7	0	4/3	0	-	-
Wood T	08/09	9	20	2	10.	0	0	15	9	214	23.7	0	3/1	6	-	-
Worthy R	03/04	15	87	3	29.	0	0	46	29	484	16.7	0	3/2	9	-	-
Zennaro P	88/89	1	21	1	21.	0	0	21	-	-	-	-	-	1	-	-

## All Players Career Aggregate Statistics to end Season 2012/13

Player	From	Gm s	Rns	Ou t	Avg	50	100	Hs	Wk	Runs	Avg	5WI	BB	C(F)	C(W)	St
Bach S	00/0 1	20	240	12	20.0	1	0	68	0	82	-	0	0/1	6	11	0
Bach Tim	98/9 9	106	365	51	7.2	0	0	46	-	-	-	-	-	20	25	4
Bach Tom	98/9 9	140	3229	11 0	29.4	14	4	190	43	923	21.5	1	5/33	73	2	0
Baddam A	11/1 2	10	117	6	19.5	1	0	75	4	150	37.5	0	2/25	1	-	-
Banks-Smith B	98/9 9	180	2835	14 6	19.4	11	2	104*	20	668	33.4	0	4/14	44	80	8
Barnett S	11/1 2	3	13	3	4.3	0	0	5	0	38	-	0	0/38	0	-	-
Beaton P	12/1 3	1	1	1	1.0	0	0	1	1	26	26.0	0	1/26	0	-	-
Beaton R	12/1 3	1	14	1	14.0	0	0	14	-	-	-	-	-	0	-	-
Behan E	99/0 0	157	525	74	7.1	0	0	25	91	2224	24.4	1	6/34	60	-	-
Bird J	12/1 3	2	13	2	6.5	0	0	13	4	35	8.7	0	4/35	1	-	-
Brebner-Griffin A	09/1 0	26	343	17	20.2	2	0	58*	18	494	27.4	1	5/37	12	-	-
Briggs J	12/1 3	5	22	4	5.5	0	0	16	2	167	83.5	0	1/34	0	-	-
Briggs R	12/1 3	6	37	6	6.2	0	0	22	2	94	47.0	0	2/21	4	-	-
Briggs T	12/1 3	3	15	2	7.5	0	0	13*	0	23	-	0	0/8	0	-	-
Burt A	94/9 5	159	2968	15 0	19.8	17	1	108	5	257	51.4	0	1/6	43	-	-
Burt D	92/9 3	148	2443	11 4	21.4	11	2	124	101	2983	29.5	2	5/46	28	-	-
Campbell A	12/1 3	1	20	1	20.0	0	0	20	1	23	23.0	0	1/23	1	-	-
Carolan L	12/1 3	5	18	4	4.5	0	0	9	0	13	-	0	0/13	0	-	-
Casha T	03/0 4	103	1500	99	15.2	3	2	130	72	1987	27.6	1	7/88	28	3	1
Chalker H	12/1 3	5	48	4	12.0	0	0	22	2	107	53.5	0	1/20	0	-	-
Classon C	99/0 0	117	2233	90	24.8	4	2	118*	36	891	24.7	0	4/21	34	-	-
Colman L	02/0 3	103	651	55	11.8	1	0	81*	159	3315	20.8	2	5/9	29	-	-
Cooper T	12/1 3	1	0	0	-	0	0	0*	0	18	-	0	0/18	0	-	-
Corbett R	90/9 1	217	4490	17 9	25.1	23	5	152	294	6045	20.6	6	8/43	52	-	-
Coyle B	03/0 4	94	1324	67	19.8	3	0	95	111	2479	22.3	2	5/20	50	-	-
Craine B	02/0	111	1407	73	19.3	3	2	163*	101	2379	23.6	0	4/38	28	-	-
Cudlipp B	12/1 3	1	7	0	-	0	0	7*	0	23	-	0	0/23	0	-	-
Curry A	91/9 2	144	2027	14 3	14.2	6	0	78	-	-	-	-	-	32	10	0
D'Addazio A	04/0 5	82	276	30	9.2	0	0	44	143	2618	18.3	5	6/36	25	-	-

Player	From	Gm	Rns	Ou	Avg	50	100	Hs	Wk	Runs	Avg	5WI	BB	C(F)	C(W)	St
D'Addazio F	07/0	<b>s</b> 71	1301	<b>t</b> 61	21.3	4	1	134	39	872	22.4	1	5/26	28	-	-
D'Astoli L	8 96/9 7	224	3105	14 5	21.4	12	1	112	402	7719	19.2	13	7/52	87	-	-
David B	07/0 8	52	424	32	13.3	0	0	29	45	1208	26.8	0	4/26	23	-	-
Dhandapani A	10/1 1	21	209	13	16.1	1	0	84*	7	427	61.0	0	2/41	8	-	-
Docherty B	78/7 9	339	8919	30 2	29.6	47	9	125	280	5213	18.6	6	6/17	176	2	-
Donahoe T	12/1 3	1	-	-	-	-	-	-	-	-	-	-	-	1	-	-
Doran M	09/1 0	51	370	32	11.6	1	0	83*	42	1020	24.3	0	4/39	11	-	-
Douglas G	12/1 3	13	90	11	8.2	0	0	32	3	81	27.0	0	2/16	4	-	-
Douglas H	11/1 2	12	370	10	37.0	4	0	79	14	453	32.4	0	4/41	2	-	-
Doyle D	07/0 8	30	105	15	7.0	0	0	19	61	1147	18.8	1	5/11	9	-	-
Draycott M	12/1 3	1	-	-	-	-	-	-	4	18	4.5	0	4/18	0	-	-
Ellen T	12/1 3	7	21	4	5.3	0	0	15	14	213	15.2	1	6/72	2	-	-
Fairbrother S	09/1 0	53	1416	44	32.2	6	2	123	44	1205	27.4	1	5/58	29	-	-
Flint R	06/0 7	87	1789	69	25.9	8	1	122*	20	481	24.0	0	3/0	39	-	-
Foley T	12/1 3	1	0	1	0.0	0	0	0	-	-	-	-	-	0	-	-
Francis M	98/9 9	96	659	63	10.5	2	0	53	115	2445	21.3	4	6/54	23	-	-
Funnell M	99/0 0	116	615	42	14.6	2	0	66	220	3919	17.8	8	7/62	21	-	-
Giannakopoulos C	08/0 9	46	868	45	19.3	5	0	79	11	186	16.9	1	5/17	8	-	-
Gordon A	06/0 7	29	148	21	7.0	0	0	33	2	52	26.0	0	1/12	8	-	-
Greaves B	12/1 3	1	8	1	8.0	0	0	8	0	22	-	0	0/22	0	-	-
Hamilton A	06/0 7	45	952	42	22.7	3	1	107*	38	938	24.7	0	4/26	12	2	0
Hando D	09/1 0	43	393	29	13.6	2	0	54*	20	633	31.6	0	4/28			
Hearn S	06/0 7	11	144	9	16.0	1	0	51	6	185	30.8	0	3/39	1	-	-
Henderson J	03/0 4	41	263	34	7.7	0	0	40*	11	241	21.9	0	4/24	4	25	4
Hennessy D	08/0 9	33	255	21	12.1	1	0	56	12	490	40.8	0	2/25	12	-	-
Hesse P	12/1 3	1	2	1	2.0	0	0	2	0	11	-	0	0/11	0	-	-
Hoich R	82/8 3	213	4079	19 1	21.4	14	2	121*	7	166	23.7	0	2/15	64	-	-
Hoy S	86/8 7	171	3029	13 3	22.8	17	3	107	201	3250	16.2	8	6/15	83	-	-
Huff P	12/1 3	9	15	7	2.1	0	0	8	2	145	72.5	0	2/42	3	-	-
Jarvis M	12/1 3	5	43	4	10.8	0	0	22	5	132	26.4	0	2/40	1	-	-
Javernik L	09/1 0	10	285	10	28.5	2	0	66	-	-	-	-	-	1	7	1

Player	From	Gm s	Rns	Ou t	Avg	50	100	Hs	Wk	Runs	Avg	5WI	BB	C(F)	C(W)	St
Jayasinghe G	11/1 2	16	392	14	28.0	3	0	70	0	36	-	0	0/7	2	-	-
Jayasuriya D	12/1 3	10	410	7	58.6	3	1	100	24	456	19.0	0	4/39	7	-	-
Jayasuriya S	11/1 2	8	103	3	34.3	0	0	36	3	79	26.3	0	2/39	2	-	-
Jowett S	05/0 6	38	1041	38	27.4	4	1	130	0	14	-	0	0/14	12	-	-
Kerr D	04/0 5	30	570	25	22.8	2	1	147*	15	241	16.1	2	5/25	10	-	-
King A	08/0	38	644	30	21.5	2	0	81	9	380	42.2	0	2/18	11	-	-
Krishnaimoorth y P	10/1 1	12	28	7	4.0	0	0	13	4	137	34.2	0	3/45	1	-	-
Krohn A	06/0 7	83	754	45	16.8	3	0	86	95	2042	21.5	0	4/16	21	3	0
Krohn J	74/7 5	488	1120 4	46 1	24.3	41	13	203	6	137	22.8	0	1/0	86	313	70
Lasscock G	12/1 3	1	23	1	23.0	0	0	23	1	3	3.0	0	1/3	1	-	-
Lindsay H	12/1 3	1	5	1	5.0	0	0	5	1	14	14.0	0	1/14	0	-	-
Llewellyn S	12/1 3	1	44	1	44.0	0	0	44	-	-	-	-	-	0	-	-
Lynch M	94/9 5	151	1508	94	16.0	4	0	72	181	4054	22.4	6	8/69	72	-	-
Lynch P	89/9 0	287	5561	27 0	20.6	18	6	125	30	810	27.0	0	3/20	115	4	0
McDonald R	09/1 0	26	157	18	8.7	0	0	26	35	651	18.6	2	5/33	6	-	-
Molloy M	85/8 6	254	2573	16 4	15.7	5	1	128	279	6900	24.7	5	7/79	1	-	-
Moorhead T	10/1 1	24	28	9	3.1	0	0	12*	16	648	40.5	0	2/14	1	-	-
Morrison P	99/0 0	165	1782	10 8	16.5	2	1	100*	203	4175	20.6	3	5/11	36	-	-
Murray A	78/7 9	304	6184	30 0	20.6	28	3	129*	15	297	19.8	0	4/41	119	1	0
Nunan C	12/1 3	1	25	1	25.0	0	0	25	0	5	-	0	0/5	0	-	-
Nunan P	12/1 3	2	9	2	4.5	0	0	9	0	2	-	0	0/2	1	-	-
O'Connell D	96/9 7	194	3921	17 9	21.9	19	4	153	52	1645	31.6	1	5/29	87	2	0
O'Connell J	02/0 3	51	716	34	21.1	3	0	76	6	184	30.7	0	4/27	11	20	0
O'Connell M	99/0 0	121	2014	10 2	19.7	6	2	147*	44	1081	24.6	2	6/13	55	2	0
O'Connell S	93/9 4	182	6473	16 1	40.2	42	9	176*	3	72	24.0	0	1/6	3	267	39
O'Leary P	12/1 3	1	9	1	9.0	0	0	9	0	21	-	0	0/21	0	-	-
Panetta D	12/1 3	5	30	3	10.0	0	0	30	1	26	26.0	0	1/13	2	-	-
Parker J	12/1 3	4	15	1	15.0	0	0	9*	3	130	43.3	0	2/61	0	-	-
Price D	12/1 3	2	2	1	2.0	0	0	2	0	28	-	0	0/28	1	-	-
Pumpa B	12/1 3	5	56	3	18.7	0	0	37	4	105	26.2	0	3/19	3	-	-
Ravindranath R	11/1 2	21	127	9	14.1	0	0	42	24	544	22.7	1	5/35	4	-	-

Player	From	Gm s	Rns	Ou t	Avg	50	100	Hs	Wk	Runs	Avg	5WI	BB	C(F)	C(W)	St
Richards C	09/1 0	5	109	4	27.3	1	0	51	1	139	139.0	0	1/19	4	-	-
Rowe S	98/9 9	189	2570	15 8	16.3	10	1	105*	214	5098	23.8	4	7/55	76	-	-
Sandilands T	98/9 9	89	1308	73	17.9	7	0	80	32	983	30.7	0	4/39	42	-	-
Sargeant T	11/1 2	18	104	15	6.9	0	0	29	12	383	31.9	0	3/31	5	-	-
Shallue M	09/1 0	19	421	18	23.4	3	0	84*	3	26	8.7	0	3/7	7	2	0
Sharpe D	03/0 4	122	2853	11 5	24.8	16	1	154*	2	119	59.5	0	2/37	44	49	1
Sharpe T	05/0 6	58	620	42	14.8	3	0	62*	0	6	-	0	0/6	0	68	3
Sierakowski L	09/1 0	12	305	11	27.7	1	0	92	10	287	28.7	0	2/17	4	1	0
Siyanhuna O	12/1 3	2	3	1	3.0	0	0	3*	0	21	-	0	0/21	0	-	-
Smith Adam	12/1 3	4	81	2	40.5	1	0	57	3	108	36.0	0	2/17	1	-	-
Smith M	12/1 3	3	13	1	13.0	0	0	13	1	122	122.0	0	1/59	0	-	-
Spithill D	97/9 8	171	2557	11 5	22.2	10	3	129	212	4863	22.9	8	6/47	63	-	-
Taylor M	12/1 3	2	42	1	42.0	0	0	28	4	60	15.0	0	3/24	1	-	-
Terrill J	06/0 7	52	525	43	12.2	0	0	39	25	756	30.2	0	4/28	7	-	-
Thomas M	09/1 0	13	384	11	34.9	0	2	154*	17	371	21.8	0	4/33	1	-	-
Trivedi D	11/1 2	13	128	12	10.7	0	0	30	7	355	50.7	0	3/31	3	-	-
Vardy D	11/1 2	15	424	16	26.5	2	0	78	3	157	52.3	0	2/45	12	-	-
Wigg C	12/1 3	12	418	8	53.6	1	1	106*	0	13	-	0	0/13	3	3	0
Wigg X	10/1 1	25	250	16	15.6	1	0	61	12	358	29.8	0	3/39	7	16	1
Williams M	03/0 4	40	868	37	23.5	5	1	127	16	489	30.6	0	3/27	9	-	-
Williamson R	12/1 3	1	3	1	3.0	0	0	3	4	35	8.7	0	4/35	0	-	-
Wood T	08/0 9	42	162	14	11.6	0	0	29*	49	1083	22.1	0	3/8	10	-	-
Worthy R	03/0 4	136	423	33	12.8	0	0	46	245	3869	15.8	5	8/60	65	-	-
Zennaro P	88/8 9	210	3850	20 3	19.0	14	4	145*	6	263	43.8	0	4/8	50	-	-

## **Honour Board**

Season	President	Secretary	First XI Captain	Club Champion	Best Clubman	Basil Finnigan
			Captain	G.I.U.I.P.IO.I	51412111411	Medallist
1967/68	A Yarwood	A Burt	A Burt	D Harrison		
1968/69	G Mazoletti	K Burt	A Burt	D Harrison		
1969/70	G Mazoletti	K Burt	A Yarwood	M Cain		
1970/71	G Mazoletti	K Burt	A Yarwood	M Cain		
1971/72	A Burt	K Burt	A Yarwood	J Martin		
1972/73	A Burt	K Burt	A Yarwood	M Cain		
1973/74	A Burt	K Burt	K Burt	J Martin		
1974/75	A Burt	K Burt	K Burt	B Finnigan		
1975/76	A Yarwood	M Wignell	K Burt	G Wignell	K Burt	
1976/77	A Yarwood	M Wignell	K Burt	M Robertson	M Yarwood	
1977/78	P Sandilands	P Spithill	P Sandilands	G Wignell	B Brell	
1978/79	P Sandilands	P Spithill	P Sandilands	G Wignell	E Fitzwilliam	
1979/80	P Sandilands	E Fitzwilliam	P Sandilands	G Wignell	J Spithill	
1980/81	P Sandilands	E Fitzwilliam	P Sandilands	G Wignell	J Spithill	
1981/82	P Sandilands	E Fitzwilliam	G Wignell	G Wignell	P Pawsey	
1982/83	P Sandilands	P Pawsey	P Sandilands	G Wignell	P Stewart	
1983/84	R Fitzwilliam	P Pawsey	B Cain	B Cain	B Docherty	
1984/85	R Fitzwilliam	P Pawsey	K Burt	C Hoare	Mrs D Burt	
1985/86	K Burt	Mrs M Smith	K Burt	C Hoare	M Drew	G Walker
1986/87	K Burt	P McHenry	C Hoare	C Hoare	D Zennaro	P Wignell
1987/88	K Burt	P McHenry	B Docherty	G Wignell	P McHenry	G Wignell
1988/89	K Burt	E Fitzwilliam	B Docherty	B Docherty	P Docherty	B Docherty E Fitzwilliam G Wignell

Season	Season President Se		First XI Captain	Club Champion	Best Clubman	Basil Finnigan Medallist		
1989/90	I Constable	E Fitzwilliam	B Docherty	M Learmonth	J Murray	M Learmonth		
1990/91	I Constable	E Fitzwilliam	B Docherty	M Learmonth	R Molloy	G Walker		
1991/92	B Docherty	R Molloy	B Docherty	B Docherty	P McHenry	G Walker		
1992/93	B Docherty	K Burt	P Docherty	P Williams	R Hoich	P Williams		
1993/94	B Docherty	K Burt	P Docherty	P Williams	M Molloy	J Hall C Hoare		
1994/95	B Docherty	S Ross	B Docherty	B Docherty	Mrs K Burt	C Wood		
1995/96	G Chard	S Ross	P Warcarba	B Docherty	A Purcell	B Docherty		
1996/97	G Chard	S Ross	P Warcarba	P Warcarba	A Daly	P Warcarba		
1997/98	S Ross	S Waller	P Warcarba	P Warcarba	A Tracey	R McDowall D Burt		
1998/99	S Waller	S Weerasinghe	S Joyce	B Docherty R McDowall	J Di Stefano	M Thackwray		
1999/00	R Corbett	P Zennaro	B Docherty	B Docherty	P Lynch	M Pivetta		
2000/01	R Corbett	P Zennaro	S Joyce	D Sotiriadis	P Morrison	L D'Astoli		
2001/02	G Chard	P Zennaro	P Fisicaro	B Docherty	R Corbett	S Hoy M Pivetta		
2002/03	G Chard	P Zennaro	P Fisicaro	S O'Connell	P Fisicaro	S Hoy J Krohn		
2003/04	Dr T Bach	P Zennaro	P Fisicaro	S O'Connell	G Chard	L D'Astoli		
2004/05	Dr T Bach	N Fennessy	S O'Connell	S O'Connell	A Michaelides	M Mitchell		
2005/06	S Hoy	Mrs K Zennaro	S O'Connell	S O'Connell	P Zennaro	D Smith		
2006/07	S Hoy	Mrs K Zennaro	S O'Connell	S O'Connell	R & K Corbett	N Hodgson		
2007/08	S Hoy	Mrs K Zennaro	S O'Connell	L D'Astoli	S O'Connell	L D'Astoli		
2008/09	P Zennaro	Mrs K Zennaro	S O'Connell	Tom Bach	M Francis	A Ross		
2009/10	P Zennaro	Mrs K Zennaro	S O'Connell	S O'Connell	Mrs K Zennaro	P Morrison		
2010/11	D Sharpe	Mrs K Zennaro	S O'Connell	S O'Connell	J Krohn	S O'Connell		
2011/12	D Burt	D Burt Mrs K Zennaro		S O'Connell	Dr T Bach	P Lynch J Murray S O'Connell		
2012/13	D. Burt	T. Sharpe	L D'Astoli	S. Fairbrother	J. Krohn	S. Fairbrother		